

Lagniappe

CHICAGO



ILLINOIS

portfolio
March 2026

lagniappebeverage.com

Table of Contents

Spirits

Denmark	2
Finland	2
France	2
Armagnac	2
Cognac	2
Italy	3
Piedmont	3
Puglia	3
Trentino-Alto Adige	3
Mexico	3
Durango	4
Jalisco	4
Mexico City	4
Oaxaca	4
Portugal	5
Madeira	5
United States	5
California	5
Illinois	5
Kansas	6
Kentucky	6
Minnesota	6
New York	7

Wine

Argentina	7
Mendoza	7
Austria	8
Niederösterreich	8
Chile	8
Central Valley	8
Sur	9
France	9

Alsace	9
Bordeaux	10
Burgundy	11
Champagne	12
Jura	13
Languedoc-Roussillon	13
Loire Valley	14
Provence	15
Rhône Valley	16
Southwest France	16
Germany	17
Mosel	17
Pfalz	17
Württemberg	17
Greece	17
Aegean Islands	17
Italy	17
Abruzzo	17
Basilicata	17
Calabria	18
Campania	18
Emilia-Romagna	18
Friuli-Venezia Giulia	18
Lazio	18
Lombardy	19
Marche	19
Piedmont	19
Sardinia	20
Sicily	20
Trentino-Alto Adige	21
Tuscany	21
Umbria	22
Veneto	22
Lebanon	23

Mount Lebanon	23
Mexico	23
New Zealand	23
Marlborough	23
Portugal	23
Bairrada	23
Douro	24
Vinho Verde	24
Slovakia	24
Southern Slovakia	24
South Africa	24
Western Cape	24
Spain	25
Andalucía	25
Balearic Islands	25
Basque Country	25
Castilla y León	25
Castilla-La Mancha	25
Catalonia	26
Galicia	26
Madrid	27
Rioja	27
United States	27
California	27
New York	31
Oregon	31
Washington	32
Wisconsin	32
Combo	
Italy	32
Piedmont	32

Spirits

Denmark

Empirical Spirits

SKU	Name	Frontline	One case	Discounts
LQ5301-NV	Ayuuk · 750 mL × 6	\$60.00	\$360.00	
LQ5300-NV	Soka · 750 mL × 6	\$38.00	\$228.00	
LQ5303-NV	Symphony 6 · 750 mL × 6	\$38.00	\$228.00	
LQ5302-NV	The Plum I Suppose · 750 mL × 6	\$60.00	\$360.00	

Finland

Kyrö Distillery Company

SKU	Name	Frontline	One case	Discounts
LQ1701-NV	Dark Gin · 750 mL × 6	\$32.67	\$196.00	
LQ1700-NV	Gin · 750 mL × 6	\$29.00	\$174.00	
LQ1703-NV	Malt Rye Whisky · 700 mL × 6	\$35.00	\$210.00	
LQ1704-NV	Oloroso Malt Rye Whisky · 700 mL × 6	\$37.00	\$222.00	
LQ1705-NV	Peat Smoke Malt Rye Whisky · 700 mL × 6	\$40.67	\$244.00	
LQ1702-NV	Pink Gin · 750 mL × 6	\$27.00	\$162.00	
LQ1706-NV	Wood Smoke Malt Rye Whisky (Wood case) · 700 mL × 6	\$38.00	\$228.00	

France

Ælred

SKU	Name	Frontline	One case	Discounts
LQ4601-NVI	1889 L'Herboriste Coiron Jaune Liqueur · 700 mL × 6	\$33.00	\$198.00	
LQ4600-NV	Pastis 1889 Provençal · 700 mL × 6	\$24.00	\$144.00	
LQ4501-NVI	Pomelo De France Pomelo Liqueur · 700 mL × 6	\$20.00	\$120.00	
LQ4502-NVI	Triple Sec Orange Liqueur · 700 mL × 6	\$24.00	\$144.00	

Armagnac

Eric Artiguelongue

SKU	Name	Frontline	One case	Discounts
LQ1601-NV	15 Year Old XO Bas-Armagnac · 750 mL × 6	\$44.00	\$264.00	
LQ1600-NV	VSOP Bas-Armagnac · 750 mL × 6	\$35.00	\$210.00	

Cognac

Maison Surrenne

SKU	Name	Frontline	One case	Discounts
LQ8000-NV	Cognac · 750 mL × 12	\$36.00	\$432.00	
LQ8009-NV	XO Grande Champagne Cognac · 750 mL × 12	\$108.00	\$1296.00	\$996.00/5

Spirits

Italy

Piedmont

Distillerie Francoli

SKU	Name	Frontline	One case	Discounts
LQ2700-NVI	Antico Amaro Noveis Liqueur · 700 mL × 6	\$17.00	\$102.00	
LQ2701-NVB	Antico Bitter Noveis · 750 mL × 6	\$18.00	\$108.00	
LQ2702-NVI	Antico Fernet Noveis Herbal Liqueur · 750 mL × 6	\$18.00	\$108.00	

Puglia

Borsci

SKU	Name	Frontline	One case	Discounts
LQ2402-NV	Sambuca Extra Fine Liqueur · 750 mL × 12	\$21.00	\$252.00	
LQ2401-NV	Succ'Argo Limoncello Del Salento Liqueur · 750 mL × 12	\$19.00	\$228.00	

Borsci Liquori

LQ2400-NV	Elisir San Marzano · 750 mL × 12	\$22.00	\$264.00	
-----------	----------------------------------	---------	----------	--

Trentino-Alto Adige

Walcher

SKU	Name	Frontline	One case	Discounts
LQ3401-NVI	Amaretto Liquore Artigianale · 700 mL × 6	\$24.00	\$144.00	
LQ3400-NVI	Aperitivo Rondo Spritz · 700 mL × 6	\$16.00	\$96.00	
LQ3405-NVI	Elderflower Organic Liqueur · 700 mL × 6	\$23.00	\$138.00	
LQ3404-NVI	Espresso Premium Coffee Liqueur · 700 mL × 6	\$23.00	\$138.00	
LQ3421-NVB1	Gewürztraminer Grappa · 375 mL × 6	\$22.00	\$132.00	
LQ3422-NVI	Midsummer Spritz Aperitivo · 750 mL × 6	\$21.00	\$126.00	
LQ3403-NVI	Organic Limoncello Fior Di Limone Lemon Liqueur · 700 mL × 6	\$23.00	\$138.00	
LQ3420-NVB1	Pinot Noir Grappa · 375 mL × 6	\$22.00	\$132.00	

Mexico

Cuentacuentos

SKU	Name	Frontline	One case	Discounts
LQ8514-NV	Coyote Ángel Cruz Robles 100% Maguey Destilado De Agave Mezcal Ancestrale · 750 mL × 6	\$85.00	\$510.00	\$397.30/5

Primo

LQ8700-NVI	Aperitivo · 700 mL × 6	\$30.00	\$180.00	
------------	------------------------	---------	----------	--

Yola Mezcal

LQ3700-NVL	Joven Mezcal Artesanal 100% Agave A. Angustifolia (On Premise Only) · 750 mL × 6	\$35.00	\$210.00	
LQ3701-NV	Pechuga Mezcal · 750 mL × 6	\$80.00	\$480.00	

Spirits

Durango

Cuentacuentos

SKU	Name	Frontline	One case	Discounts
LQ8508-NV	A. Karwinskii Madrecuishe 100% Agave Everardo Garcia Salvador Mezcal Artesanal · 750 mL × 12	\$74.00	\$888.00	\$662.08/5

Lagrimas de Dolores

LQ3300-NVB	Cenizo Colonial Joven Mezcal · 700 mL × 6	\$36.00	\$216.00	
LQ3307-NVB	Cenizo Colonial Temoaya Joven Mezcal · 700 mL × 6	\$38.00	\$228.00	
LQ3302-NVI	Durangensis Añejo Mezcal · 750 mL × 6	\$54.00	\$324.00	\$252.00/5
LQ3303-NVI	Maguery Castilla Joven Mezcal · 700 mL × 6	\$56.00	\$336.00	
LQ3305-NV	Maguery l'Gok Joven Mezcal · 750 mL × 6	\$88.00	\$528.00	\$420.06/5
LQ3306-NV	Maguery Tepemete Joven Mezcal · 750 mL × 6	\$125.00	\$750.00	\$571.04/5
LQ3309-NVI	Maguery Verde Joven Mezcal Artesanal · 700 mL × 6	\$56.00	\$336.00	
LQ3304-NVI	Masparillo Joven Mezcal · 750 mL × 6	\$75.00	\$450.00	

Los Nahuales

LQ905-NV	Método Antiguo Mezcal Artesanal · 750 mL × 6	\$53.00	\$318.00	\$192.00/5
LQ911-NV	Nahaul De Coyote Espadín Joven Mezcal Artesanal · 750 mL × 6	\$38.00	\$228.00	\$138.00/5

Jalisco

Cuentacuentos

SKU	Name	Frontline	One case	Discounts
LQ8505-NV	Angustifolia Maguery Espadín 100% Agave Ángel Cruz Robles Mezcal Ancestral · 750 mL × 12	\$66.67	\$800.00	\$590.27/5
LQ8501-NV	Coyote 100% Agave Ángel Cruz Robles Mezcal Ancestral · 750 mL × 12	\$87.33	\$1048.00	\$759.99/5

La Gritona

LQ3000-NVH	Reposado Tequila 100% de Agave · 50 mL × 24	\$5.50	\$132.00	
LQ3000-NVQ	Reposado Tequila 100% de Agave · 750 mL × 12	\$37.50	\$450.00	
LQ3000-NVBQ	Reposado Tequila 100% de Agave · 375 mL × 12	\$24.00	\$288.00	

Mexico City

Azar Spirits

SKU	Name	Frontline	One case	Discounts
LQ3800-NV	Flor De Azar Triple Sec Citrus Liqueur · 750 mL × 6	\$29.00	\$174.00	

Oaxaca

Cuentacuentos

SKU	Name	Frontline	One case	Discounts
LQ8509-NV	A. Marmorata Tepeztate 100% Maguery Everardo Garcia Salvador · 750 mL × 6	\$96.00	\$576.00	\$449.09/5
LQ8500-NV	El Barro 100% Maguery Destilado De Agave · 750 mL × 12	\$50.00	\$600.00	\$456.00/5

Spirits

Los Nahuales

LQ913-NV	1 Year Old Aged Nahual De Búho Mezcal Artesanal Añejo 100% Maguey Espadín · 750 mL × 6	\$88.00	\$528.00	\$312.00/5
LQ906-NV	Añejo Mezcal · 750 mL × 6	\$86.00	\$516.00	

Tso'ok Rum

LQ8700-NV	Ron Serrano Oaxacan Mountain Rum · 750 mL × 6	\$32.00	\$192.00	
LQ8701-NV	Six Month Old In French Oak Barrels Reposado Oaxacan Mountain Rum · 750 mL × 6	\$45.00	\$270.00	\$216.00/5

Yola Mezcal

LQ3700-NVB	Mezcal · 200 mL × 12	\$20.00	\$240.00	
LQ3700-NVQ	Mezcal · 750 mL × 6	\$38.00	\$228.00	

Portugal

Madeira

William Hinton Rum

SKU	Name	Frontline	One case	Discounts
LQ4101-NV1	3 Years Old Rum Agrícola Da Madeira · 750 mL × 6	\$20.00	\$120.00	
LQ4100-NV	Rum Agrícola De Madeira · 750 mL × 6	\$19.00	\$114.00	\$90.00/5

United States

Dampfwerk Distilling

SKU	Name	Frontline	One case	Discounts
LQ1907-NV	The Crane Gin · 750 mL × 6	\$34.00	\$204.00	

Hoste

LQ4404-NV	Gold Fashioned · 750 mL × 6	\$118.00	\$708.00	
LQ4407-NVK	The Martini · 1.75 L × 2	\$44.50	\$89.00	
LQ4407-NV	The Martini · 750 mL × 6	\$48.00	\$288.00	

California

Empirical Spirits

SKU	Name	Frontline	One case	Discounts
LQ5305-NV	Limited Release Doritos · 750 mL × 6	\$46.00	\$276.00	
LQ5305-NVG	Limited Release Doritos (Gift box) · 750 mL × 6	\$46.00	\$276.00	

Russell Henry Gin

LQ8101-NV	Hawaiian White Ginger Gin 94.6 Proof · 750 mL × 6	\$30.00	\$180.00	
LQ8102-NV	Malaysian Lime Gin · 750 mL × 6	\$30.00	\$180.00	

Illinois

Spirits

Amaro Cinpatrazzo

SKU	Name	Frontline	One case	Discounts
LQ8900-NV	Liqueur · 750 mL × 6	\$38.00	\$228.00	

Apologue

LQ4401-NV	Aronia Berry Liqueur · 750 mL × 6	\$31.00	\$186.00	
LQ4401-NVB	Aronia Berry Liqueur · 375 mL × 12	\$20.00	\$240.00	
LQ4413-NV	Carrot Root Liqueur · 750 mL × 6	\$31.00	\$186.00	
LQ4402-NV	Celery Root Liqueur · 750 mL × 6	\$31.00	\$186.00	
LQ4414-NV	Paw Paw Fruit Liqueur · 750 mL × 6	\$33.00	\$198.00	
LQ4400-NVK	Persimmon Liqueur · 1.75 L × 2	\$58.00	\$116.00	
LQ4400-NV	Persimmon Liqueur · 750 mL × 6	\$31.00	\$186.00	
LQ4403-NV	Saffron Spiced Liqueur · 750 mL × 6	\$33.00	\$198.00	

Hoste

LQ4408-NVK	Espresso Martini · 1.75 L × 2	\$50.00	\$100.00	
LQ4410-NVK	House Triple Sec Orange Liqueur · 1.75 L × 2	\$45.50	\$91.00	
LQ4411-NVK	House Vodka · 1.75 L × 2	\$28.00	\$56.00	
LQ4406-NVK	Mezcal Negroni · 1.75 L × 2	\$60.00	\$120.00	
LQ4406-NV	Mezcal Negroni · 750 mL × 6	\$60.00	\$360.00	
LQ4412-NVK	Old Fashioned · 1.75 L × 2	\$71.00	\$142.00	
LQ4405-NVK	Perfect Manhattan · 1.75 L × 2	\$71.00	\$142.00	
LQ4405-NV	Perfect Manhattan · 750 mL × 6	\$60.00	\$360.00	

Judson & Moore

LQ5701-NV	Bourbon · 750 mL × 6	\$38.00	\$228.00	
LQ5710-NV	House Vodka · 1 L × 12	\$14.00	\$168.00	
LQ5702-NV	Red Corn Bourbon Whiskey · 750 mL × 6	\$45.00	\$270.00	
LQ5700-NV	Rye Whiskey · 750 mL × 6	\$38.00	\$228.00	
LQ5703-NV	Single Malt Whiskey · 750 mL × 6	\$45.00	\$270.00	

Kansas

Union Horse Distilling Co.

SKU	Name	Frontline	One case	Discounts
LQ612-NV	Limited Release Small Batch Bottled In Bond Reserve Straight Bourbon Whiskey · 750 mL × 6	\$41.00	\$246.00	
LQ603-NV	Reserve Small Batch Straight Bourbon Whiskey · 750 mL × 6	\$36.00	\$216.00	
LQ606-NV	Reunion Barrel Strength Small Batch Straight Rye Whiskey · 750 mL × 6	\$50.00	\$300.00	
LQ604-NV	Reunion Small Batch Straight Rye Whiskey · 750 mL × 6	\$41.00	\$246.00	
LQ609-NV	Rivalist Small Batch American Single Malt Whiskey · 750 mL × 6	\$52.00	\$312.00	

Kentucky

Hoste

SKU	Name	Frontline	One case	Discounts
LQ4409-NVK	House Bourbon Whiskey · 1.75 L × 2	\$33.00	\$66.00	

Minnesota

Wine

Dampfwerk Distilling

SKU	Name	Frontline	One case	Discounts
LQ1906-NV	American Single Malt Whiskey · 750 mL × 6	\$46.50	\$279.00	
LQ1910-NVL	Apple Brandy · 1 L × 12	\$36.00	\$432.00	
LQ1910-NVB	Apple Brandy · 375 mL × 12	\$23.00	\$276.00	
LQ1905-NV	Barreled Apple Brandy · 375 mL × 12	\$25.00	\$300.00	
LQ1903-NV	Helgolander Herbal Liqueur · 375 mL × 12	\$20.50	\$246.00	
LQ1902-NV	Orange Liqueur · 1 L × 12	\$19.00	\$228.00	
LQ1909-NVB	Pfefferminz3 Peppermint Schnapps Liqueur · 375 mL × 12	\$24.75	\$297.00	
LQ1909-NVL	Pfefferminz3 Peppermint Schnapps Liqueur · 1 L × 12	\$30.00	\$360.00	
LQ1901-NV	Twin Cities Aquavit · 750 mL × 6	\$32.00	\$192.00	
LQ1908-NV	Twin Cities Barreled London Dry Gin · 750 mL × 6	\$38.00	\$228.00	
LQ1900-NVL	Twin Cities London Dry Gin · 1 L × 12	\$24.00	\$288.00	
LQ1900-NV	Twin Cities London Dry Gin · 750 mL × 6	\$32.00	\$192.00	

New York

Empirical

SKU	Name	Frontline	One case	Discounts
LQ5306-NV	Batch #001 Cilantro · 750 mL × 6	\$29.00	\$174.00	
LQ5308-NV	Stonefruit · 750 mL × 4	\$43.50	\$174.00	

Faccia Brutto

LQ5102-NV	Amaro Alpino Premium Liqueur · 750 mL × 12	\$33.00	\$396.00	
LQ5103-NV	Amaro Gorini Premium Liqueur · 750 mL × 12	\$35.00	\$420.00	
LQ5100-NV	Aperitivo Premium Liqueur · 750 mL × 12	\$25.00	\$300.00	
LQ5107-NVQ	Carciofo Premium Liqueur · 750 mL × 12	\$33.00	\$396.00	
LQ5108-NV	Centerbe Giallo Premium Liqueur · 750 mL × 12	\$44.00	\$528.00	
LQ5106-NV	Centerbe Premium Liqueur · 750 mL × 12	\$35.00	\$420.00	
LQ5101-NVQ	Fernet Pianta Premium Liqueur · 750 mL × 12	\$33.00	\$396.00	
LQ5104-NVB	Nocino Premium Liqueur · 375 mL × 12	\$21.00	\$252.00	

Supergay Spirits

LQ7000-NV	Craft Vodka · 750 mL × 12	\$22.00	\$264.00	
LQ7001-NV	Fire Island Dry Gin · 750 mL × 6	\$31.00	\$186.00	

Two Fruits

LQ7002-NV	Cosmo · 250 mL × 24	\$5.00	\$120.00	
LQ7003-NV	Ginger Mule · 250 mL × 24	\$5.00	\$120.00	

Wine

Argentina

Mendoza

Alhambra

SKU	Name	Frontline	One case	Discounts
AR186-23	Cabernet Sauvignon Single Vineyard Reserva Paraje Altamira (2023) · 750 mL × 12	\$11.00	\$132.00	

Wine

SKU	Name	Frontline	One case	Discounts
AR185-23	Malbec Single Vineyard Reserva Valle de Uco (2023) · 750 mL × 12	\$11.00	\$132.00	
AR187-22	Red Blend Reserva Valle de Uco (2022) · 750 mL × 12	\$11.00	\$132.00	

Alpamanta

AR324-22	Campal Mendoza (2022) · 750 mL × 12	\$16.50	\$198.00	
AR325-23	Malbec Natal Mendoza (2023) · 750 mL × 12	\$13.00	\$156.00	
AR331-13	Malbec Reserva Ugarteche Luján de Cuyo (2013) · 750 mL × 12	\$30.00	\$360.00	
AR322-22	Pet Nat Brea Criolla Mendoza (2022) · 750 mL × 12 · WE 89	\$18.00	\$216.00	

Pie De Palo

AR301-23	Malbec Mendoza (2023) · 750 mL × 12	\$9.00	\$108.00	
----------	-------------------------------------	--------	----------	--

Austria

Niederösterreich

Egon

SKU	Name	Frontline	One case	Discounts
AU305-24L	Niederösterreich Grüner Veltliner (2024) · 1 L × 12	\$12.50	\$150.00	

Gustav

AU300-24	Wachau Grüner Veltliner (2024) · 750 mL × 12	\$14.00	\$168.00	
----------	--	---------	----------	--

Chile

Central Valley

Casa Julia

SKU	Name	Frontline	One case	Discounts
CH203-22	Cabernet Sauvignon Valle del Maipo (2022) · 750 mL × 12	\$7.50	\$90.00	
CH207-22	Carménère Reserva Valle del Maipo (2022) · 750 mL × 12	\$9.00	\$108.00	
CH200-24	Sauvignon Blanc Valle del Maule (2024) · 750 mL × 12	\$7.50	\$90.00	

Echeverria

CH3042-23	Cabernet Franc No Es Pituko Valle del Curicó (2023) · 750 mL × 12	\$11.00	\$132.00	
CH3035-23	Cabernet Sauvignon No Es Pituko Valle del Curicó (2023) · 750 mL × 12	\$11.00	\$132.00	
CH304-24	Chardonnay No Es Pituko Valle del Curicó (2024) · 750 mL × 12	\$11.00	\$132.00	
CH3034-25	Sauvignon Blanc No Es Pituko Orange Valle del Curicó (2025) · 750 mL × 12	\$11.50	\$138.00	
CH3045-22	Sauvignon Blanc Romi Orange Skin Fermented Valle del Curicó (2022) · 750 mL × 12	\$15.00	\$180.00	
CH3036-23	Valle del Curicó I No Es Pituko Natural Wine Rosé (2023) · 750 mL × 12	\$11.00	\$132.00	
CH3036-24	Valle del Curicó I No Es Pituko Natural Wine Rosé (2024) · 750 mL × 12	\$11.50	\$138.00	

Wine

	750 mL x 12			
CH3041-23	Viognier No Es Pituko Valle del Curicó (2023) · 750 mL x 12	\$11.00	\$132.00	
CH3048-22	Wild Pét Nat Valle del Curicó (2022) · 750 mL x 12	\$15.00	\$180.00	

Mahu

CH220-24	Sauvignon Blanc Valle del Maule (2024) · 750 mL x 12	\$9.00	\$108.00	
----------	--	--------	----------	--

Manta

CH100-24	Sauvignon Blanc Valle del Maule (2024) · 750 mL x 12	\$7.50	\$90.00	
----------	--	--------	---------	--

Sur

Roberto Henriquez

SKU	Name	Frontline	One case	Discounts
CH471-22	Old Vines Rivera del Notro Valle Del Itata Blanco (2022) · 750 mL x 12	\$19.50	\$234.00	
CH471-24	Old Vines Rivera del Notro Valle Del Itata Blanco (2024) · 750 mL x 12	\$20.00	\$240.00	
CH480-21	País Tierra De Pumas Bío-Bío Valley (2021) · 750 mL x 12	\$18.00	\$216.00	
CH473-24	País 200 Year Old Vines Rivera Del Notro Tinto Valle del Bío-Bío (2024) · 750 mL x 12	\$17.50	\$210.00	
CH479-22	País Franco Valle del Bío-Bío (2022) · 750 mL x 12	\$20.50	\$246.00	

France

Anne Pichon

SKU	Name	Frontline	One case	Discounts
FR4830-24	Sauvage Orange (2024) · 750 mL x 12	\$16.00	\$192.00	

Clément & Florian Berthier

FR4400-23	Pinot Noir L'Instant (2023) · 750 mL x 12	\$13.00	\$156.00	
FR4401-24	Sauvignon Blanc L'Instant (2024) · 750 mL x 12	\$12.50	\$150.00	

Matthieu Barret

FR0047-24	Petit Ours Rosé (2024) · 750 mL x 12	\$15.00	\$180.00	\$132.00/5
-----------	--------------------------------------	---------	----------	------------

Mr & Mrs Theo

FR4091-23	Le P'tit Ga (2023) · 750 mL x 12	\$11.00	\$132.00	
-----------	----------------------------------	---------	----------	--

Pas de Problème

FR315-24	Pinot Noir (2024) · 750 mL x 12	\$10.50	\$126.00	
----------	---------------------------------	---------	----------	--

Sons of Wine

FR086-24	Bisous Bisous (2024) · 750 mL x 12	\$18.50	\$222.00	
----------	------------------------------------	---------	----------	--

Alsace

Wine

Brut Cattin

SKU	Name	Frontline	One case	Discounts
FR727-NV	Crémant d'Alsace Brut Methode Traditionnelle (NV) · 750 mL × 12 · WE 89	\$13.50	\$162.00	
FR728-NV	Crémant d'Alsace Rosé Methode Traditionnelle (NV) · 750 mL × 12 · WE 88	\$12.00	\$144.00	

Joseph Cattin

FR720-23	Alsace Pinot Blanc (2023) · 750 mL × 12	\$11.00	\$132.00	
FR721-24	Alsace Riesling (2024) · 750 mL × 12	\$11.00	\$132.00	

Bordeaux

Château Beauséjour

SKU	Name	Frontline	One case	Discounts
FR9448-21	Empreintes Rouge (2021) · 750 mL × 12	\$15.50	\$186.00	
FR9444-23B	Puisseguin Saint-Émilion (2023) · 375 mL × 12	\$11.00	\$132.00	
FR9446-23	Puisseguin Saint-Émilion Cuvée Sulfite Free (2023) · 750 mL × 12	\$18.00	\$216.00	

Château Bouchereau

FR3150-23	Bordeaux (2023) · 750 mL × 12	\$11.00	\$132.00	
FR3140-24	Bordeaux Blanc (2024) · 750 mL × 12	\$11.00	\$132.00	

Château La Croix

FR9303-17	Pomerol (2017) · 750 mL × 12	\$50.00	\$600.00	
-----------	------------------------------	---------	----------	--

Château La Croix-Toulifaut

FR9301-07	Pomerol (2007) · 750 mL × 12	\$45.00	\$540.00	
FR9301-20	Pomerol (2020) · 750 mL × 12	\$43.00	\$516.00	

Château Le Coteau

FR9531-21	Margaux (2021) · 750 mL × 12	\$35.00	\$420.00	
FR9533-20	Margaux Eucera (2020) · 750 mL × 6	\$70.00	\$420.00	

Château Les Clauzots

FR9305-20	Graves (2020) · 750 mL × 12 · WE 87	\$17.00	\$204.00	
FR9305-22B	Graves (2022) · 375 mL × 12	\$12.50	\$150.00	
FR9306-24	Graves Blanc (2024) · 750 mL × 12	\$16.00	\$192.00	

Château de Bonhoste

FR934-23	Bordeaux Blanc (2023) · 750 mL × 12 · WE 86	\$10.00	\$120.00	
----------	---	---------	----------	--

Domaine de la Grande Courraye

FR9441-20	Castillon Côtes de Bordeaux (2020) · 750 mL × 12	\$13.00	\$156.00	
-----------	--	---------	----------	--

Wine

Burgundy

00 Wines

SKU	Name	Frontline	One case	Discounts
OR636-22	Meursault 1er Cru Charmes (2022) · 750 mL × 6	\$218.00	\$1308.00	

Armand Heitz

FR2716-21	Beaune Village Rouge (2021) · 750 mL × 12	\$35.00	\$420.00	
FR2701-22	Bourgogne Chardonnay (2022) · 750 mL × 12	\$22.00	\$264.00	
FR27017-22	Bourgogne Rouge (2022) · 750 mL × 12	\$22.00	\$264.00	
FR27015-22	Juliéna (2022) · 750 mL × 12	\$20.00	\$240.00	
FR27023-21	Meursault (2021) · 750 mL × 6	\$72.00	\$432.00	

Domaine Chatelain De Oliveira

FR3211-22	Chablis (2022) · 750 mL × 12	\$22.50	\$270.00	
FR3211-23	Chablis (2023) · 750 mL × 12	\$23.00	\$276.00	
FR3212-22	Chablis 1er Cru Fourchaume (2022) · 750 mL × 12	\$36.00	\$432.00	

Domaine Daniel Damp & Fils

FR212-23	Chablis (2023) · 750 mL × 12	\$20.00	\$240.00	
FR212-23B	Chablis (2023) · 750 mL × 24	\$13.00	\$312.00	

Domaine De L'Enclos

FR2171-23	Chablis (2023) · 750 mL × 12	\$23.50	\$282.00	
FR2172-23	Chablis 1er Cru Beauroy (2023) · 750 mL × 12	\$30.00	\$360.00	
FR2175-23	Chablis 1er Cru Mont De Milieu (2023) · 750 mL × 12	\$39.00	\$468.00	
FR2173-23	Chablis 1er Cru Vau De Vey (2023) · 750 mL × 12	\$31.00	\$372.00	
FR2177-23	Chablis Grand Cru Vaudésir (2023) · 750 mL × 12	\$56.00	\$672.00	

Domaine Fichet

FR288-24	Bourgogne Aligoté (2024) · 750 mL × 12	\$13.50	\$162.00	
FR287-23	Bourgogne Pinot Noir Tradition (2023) · 750 mL × 12	\$14.00	\$168.00	
FR282-NV	Crémant De Bourgogne Brut Tradition (NV) · 750 mL × 12	\$16.00	\$192.00	
FR283-24	Mâcon-Burgundy Les 3 Terroirs (2024) · 750 mL × 12	\$16.00	\$192.00	
FR286-23	Saint-Véran (2023) · 750 mL × 12	\$24.00	\$288.00	

Domaine Henri et Didier Delagrang

FR2403-22Q	Bourgogne Hautes-Côtes de Beaune Blanc (2022) · 750 mL × 6	\$23.50	\$141.00	
FR2403-23	Bourgogne Hautes-Côtes de Beaune Blanc (2023) · 750 mL × 6	\$23.50	\$141.00	
FR2402-20	Bourgogne Hautes-Côtes de Beaune Rouge (2020) · 750 mL × 12	\$19.50	\$234.00	
FR2402-23	Bourgogne Hautes-Côtes de Beaune Rouge (2023) · 750 mL × 6	\$25.00	\$150.00	
FR2404-22	Volnay Vieilles Vignes (2022) · 750 mL × 6	\$52.00	\$312.00	

Domaine Jean-Michel Gaunoux

FR2282-22	Meursault (2022) · 750 mL × 12	\$66.67	\$800.00	
FR2284-16	Meursault 1er Cru Perrières (2016) · 750 mL × 12	\$117.00	\$1404.00	

Wine

FR2287-19	Meursault Les Criots (2019) · 750 mL × 12	\$47.50	\$570.00	\$420.00/5
-----------	---	---------	----------	------------

Henri Dufrères

FR2571-23	Bourgogne Blanc (2023) · 750 mL × 12	\$14.00	\$168.00	
FR2570-24	Coteaux Bourguignons (2024) · 750 mL × 12	\$14.00	\$168.00	

Marchand-Tawse

FR393-22	Bourgogne Aligoté (2022) · 750 mL × 6	\$23.00	\$138.00	
FR393-23	Bourgogne Aligoté (2023) · 750 mL × 6	\$27.00	\$162.00	
FR367-23	Bourgogne Chardonnay (2023) · 750 mL × 6	\$34.00	\$204.00	
FR396-22	Chassagne-Montrachet 1er Cru Abbaye de Morgeot (2022) · 750 mL × 6	\$106.00	\$636.00	
FR357-23	Coteaux Bourguignons Gamay (2023) · 750 mL × 6	\$24.00	\$144.00	
FR360-22	Gevrey-Chambertin (2022) · 750 mL × 6	\$66.00	\$396.00	
FR366-21	Marsannay (2021) · 750 mL × 6	\$34.00	\$204.00	
FR398-22	Meursault (2022) · 750 mL × 6	\$70.00	\$420.00	
FR384-22	Morey-Saint-Denis 1er Cru Clos des Ormes (2022) · 750 mL × 6	\$82.00	\$492.00	
FR374-21	Nuits-Saint-Georges (2021) · 750 mL × 6	\$54.00	\$324.00	
FR375-22	Nuits-Saint-Georges La Petite Charmotte (2022) · 750 mL × 6	\$65.00	\$390.00	
FR378-22	Savigny-lès-Beaune 1er Cru Les Lavières (2022) · 750 mL × 6	\$48.00	\$288.00	
FR395-22	Savigny-lès-Beaune 1er Cru Les Vergelesses (2022) · 750 mL × 6	\$46.00	\$276.00	

Champagne

Champagne André Heucq

SKU	Name	Frontline	One case	Discounts
FR802-NVQ	Champagne Brut Nature Héritage Blanc De Meunier (NV) · 750 mL × 12	\$40.50	\$486.00	
FR806-20	Champagne Brut Nature Héritage Rosé de Meunier Saignée (2020) · 750 mL × 6	\$66.00	\$396.00	
FR800-NVB	Champagne Extra Brut Héritage Assemblage (NV) · 375 mL × 12	\$28.00	\$336.00	
FR800-NVQ	Champagne Extra Brut Héritage Assemblage (NV) · 750 mL × 12	\$41.50	\$498.00	
FR807-NV	Ratafia Champenois (NV) · 500 mL × 6	\$40.00	\$240.00	

Champagne Jacquinet-Dumez

FR850-NV	Champagne 1er Cru Dialogie Blanc de Noirs (NV) · 750 mL × 12	\$41.00	\$492.00	
----------	--	---------	----------	--

Champagne Lelarge-Pugeot

FR6020-18	Champagne 1er Cru Brut Blanc de Blancs (2018) · 750 mL × 12	\$76.00	\$912.00	
FR6016-16	Champagne 1er Cru Brut Nature Saignée De Meunier (2016) · 750 mL × 12	\$88.50	\$1062.00	
FR6012-11	Champagne 1er Cru Vrigny Extra Brut Les Meuniers De Clémence (2011) · 750 mL × 12	\$76.00	\$912.00	
FR6000-NV	Champagne Brut Tradition (NV) · 750 mL × 12	\$46.00	\$552.00	
FR6007-16	Champagne Extra Brut Gueux (2016) · 750 mL × 12	\$64.50	\$774.00	
FR6010-20	Coteaux Champenois Chardonnay La Côte Des Glaises	\$62.00	\$744.00	\$600.00/5

Wine

(2020) · 750 mL × 12

Champagne Pertois-Moriset

FR830-NVQ	Champagne Brut L'Assemblage (NV) · 750 mL × 12	\$39.00	\$468.00
FR831-NVQ	Champagne Brut Les Quatre Terroirs Grand Cru (NV) · 750 mL × 12	\$46.00	\$552.00
FR833-NV	Champagne Brut Rosé Blanc Collection Grand Cru (NV) · 750 mL × 6	\$53.00	\$318.00
FR837-16W	Champagne Extra Brut Blanc de Blancs Special Club (2016) · 1.5 L × 1	\$192.00	-
FR840-18	Champagne Grand Cru Cramant (2018) · 750 mL × 6	\$75.00	\$450.00

Champagne Solemme

FR820-NV	Champagne Brut 1er Cru Terre De Solemme (NV) · 750 mL × 12	\$41.50	\$498.00
FR821-19	Champagne Brut Nature 1er Cru Esprit De Solemme Noir Et Blanc (2019) · 750 mL × 6	\$56.00	\$336.00

Champagne Ullens

FR861-NVA11	Champagne Brut Cuvée Lot #11 (NV) · 1.5 L × 3	\$144.00	\$432.00
FR861-NV11	Champagne Brut Cuvée Lot #11 (NV) · 750 mL × 12	\$55.00	\$660.00
FR860-NV	Champagne Brut Extra L.P.M. (NV) · 750 mL × 6	\$74.00	\$444.00

Jura

Fumey Chatelain

SKU	Name	Frontline	One case	Discounts
FR650-22	Arbois Chardonnay Sauvagny (2022) · 750 mL × 12	\$30.00	\$360.00	
FR654-22	Arbois Pinot Noir Aux Melinaux (2022) · 750 mL × 12	\$30.00	\$360.00	
FR651-22	Arbois Savagnin Ouillé (2022) · 750 mL × 12	\$30.00	\$360.00	
FR652-19	Arbois Savagnin Sous Voile (2019) · 750 mL × 12	\$38.00	\$456.00	
FR655-18	Arbois Vin Jaune (2018) · 620 mL × 6	\$72.50	\$435.00	

Languedoc-Roussillon

Château Beauséjour

SKU	Name	Frontline	One case	Discounts
FR9447-23	Empreintes Blanc (2023) · 750 mL × 12	\$14.00	\$168.00	

Cinquante-Cinq

FR312-24	Chardonnay (2024) · 750 mL × 12	\$10.00	\$120.00
FR310-23	Sauvignon (2023) · 750 mL × 12	\$10.00	\$120.00
FR310-24	Sauvignon (2024) · 750 mL × 12	\$10.00	\$120.00
FR311-24	Viognier (2024) · 750 mL × 12	\$10.50	\$126.00

François Ducrot

FR318-23	Auguste (2023) · 750 mL × 12	\$14.00	\$168.00
----------	------------------------------	---------	----------

Pas de Problème

FR3151-24	Sauvignon Blanc (2024) · 750 mL × 12	\$10.50	\$126.00
-----------	--------------------------------------	---------	----------

Wine

Loire Valley

Alexis Hudon

SKU	Name	Frontline	One case	Discounts
FR020-23	Groseille (2023) · 750 mL × 12	\$16.50	\$198.00	
FR023-23	La Charge Pet-Nat (2023) · 750 mL × 12	\$19.50	\$234.00	
FR024-22A	Le Groslot Blanc (2022) · 1 L × 12	\$19.00	\$228.00	\$120.00/5
FR021-24	Matousé (2024) · 750 mL × 12	\$17.50	\$210.00	

Clément & Florian Berthier

FR4406-23	Coteaux du Giennois Rouge (2023) · 750 mL × 12	\$16.00	\$192.00	
FR4402-23B	Coteaux du Giennois Sauvignon Blanc (2023) · 375 mL × 12	\$11.00	\$132.00	
FR4402-23	Coteaux du Giennois Sauvignon Blanc (2023) · 750 mL × 12	\$15.00	\$180.00	
FR4405-23	Coteaux du Giennois Terre De Silex (2023) · 750 mL × 12	\$19.00	\$228.00	
FR4409-23	Sancerre Blanc (2023) · 750 mL × 12	\$25.00	\$300.00	

Domaine Damien Pinon

FR2202-NV	Vouvray Brut De Brut (NV) · 750 mL × 12 · WE 91	\$18.00	\$216.00	
FR2200-23	Vouvray Tuffo (2023) · 750 mL × 12	\$11.50	\$138.00	

Domaine Philippe Raimbault

FR540-24	Sancerre Apud Sariatum (2024) · 750 mL × 12	\$25.00	\$300.00	
----------	---	---------	----------	--

Domaine du Grand Moulin

FR500-24	Touraine Sauvignon Blanc (2024) · 750 mL × 12	\$12.00	\$144.00	
----------	---	---------	----------	--

Henry Varnay

FR550-NV	Brut Blanc de Blancs Vin Mousseux (NV) · 750 mL × 12	\$9.00	\$108.00	
FR551-NV	Rosé Sec (NV) · 750 mL × 12	\$9.00	\$108.00	

Lise & Bertrand Jousset

FR0050-24	Éxilé Pétillant Rosé (2024) · 750 mL × 12	\$21.00	\$252.00	
-----------	---	---------	----------	--

Maison Jaune (Jean-Claude Taddei)

FR300-23	Savennières (2023) · 750 mL × 12	\$41.50	\$498.00	
----------	----------------------------------	---------	----------	--

Maison Veuve Amiot

FR552-NV	Crémant de Loire Elisa (NV) · 750 mL × 12 · WE 91	\$11.50	\$138.00	
----------	---	---------	----------	--

Nicolas Reau

FR051-23	Anjou Ange Rouge (2023) · 750 mL × 12	\$14.00	\$168.00	
FR053-24	Attention Chenin Méchant (2024) · 750 mL × 12	\$17.00	\$204.00	

Pulpe Fiction

FR054-23	Muscadet Sèvre-et-Maine Lie (2023) · 750 mL × 12	\$14.00	\$168.00	
----------	--	---------	----------	--

Wine

Sebastien David

FR0015-22	Couple Goals (2022) · 1 L × 12	\$14.00	\$168.00
FR0015-23	Couple Goals (2023) · 1 L × 12	\$14.00	\$168.00
FR0010-24	Saint-Nicolas-de-Bourgueil Hurluberlu (2024) · 750 mL × 12	\$15.00	\$180.00
FR0010-24K	Saint-Nicolas-de-Bourgueil Hurluberlu (2024) · 20 L one way keg × 1	\$240.00	-

Serge Laloue

FR526-24	Sancerre (2024) · 750 mL × 12	\$25.00	\$300.00
FR514-24	Sancerre Marie Dulac (2024) · 750 mL × 12	\$26.00	\$312.00

Sylvie Augereau

FR032-22	Anjou Cabernet Franc Les Manquants (2022) · 750 mL × 12	\$42.00	\$504.00
FR031-22	Anjou Chenin Pulpes (2022) · 750 mL × 12	\$32.67	\$392.00

Topette

FR501-23	Val de Loire Chardonnay (2023) · 750 mL × 12	\$10.00	\$120.00
FR503-24	Val de Loire Chenin (2024) · 750 mL × 12	\$10.00	\$120.00
FR502-23	Val de Loire Sauvignon Blanc (2023) · 750 mL × 12	\$10.00	\$120.00
FR502-24	Val de Loire Sauvignon Blanc (2024) · 750 mL × 12	\$10.00	\$120.00

Vignoble Musset-Roullier

FR600-22	Anjou Le Moulin De Chateaupanne Blanc (2022) · 750 mL × 12	\$15.00	\$180.00
FR600-23	Anjou Le Moulin De Chateaupanne Blanc (2023) · 750 mL × 12	\$16.50	\$198.00
FR601-22	Anjou Les Neuf Vingt (2022) · 750 mL × 12	\$15.00	\$180.00

Wilfrid Rousse

FR2100-23	Chinon Les Galuches (2023) · 750 mL × 12	\$17.00	\$204.00	\$162.00/5
FR2103-23	Chinon Les Pieds Rôtis Blanc (2023) · 750 mL × 12	\$20.00	\$240.00	

Provence

Château Coussin

SKU	Name	Frontline	One case	Discounts
FR491-23	Côtes de Provence La Croix Du Prieur Rosé (2023) · 750 mL × 12	\$14.00	\$168.00	

Château Pigoudet

FR497-24	Coteaux d'Aix-en-Provence Premiere Rosé (2024) · 750 mL × 12	\$11.00	\$132.00
----------	---	---------	----------

Famille Sumeire

FR495-25	Méditerranée Le Rosé De S. (2025) · 750 mL × 12	\$10.00	\$120.00
----------	---	---------	----------

Wine

Maison Artonic

LQ4510-NVI	Melonade Apéritif Au Melon De Cavaillon · 700 mL × 6	\$19.00	\$114.00
LQ4511-NVI	Nectarine Apéritif À la Pêche · 700 mL × 6	\$19.00	\$114.00

Rhône Valley

Anne Pichon

SKU	Name	Frontline	One case	Discounts
FR480-24	Sauvage Ventoux Gris Montagne (2024) · 750 mL × 12	\$13.00	\$156.00	
FR4790-23	Vaucluse Grenache Noir Sauvage Vieilles Vignes (2023) · 750 mL × 12	\$14.50	\$174.00	
FR479-22	Ventoux Syrah Grenache Sauvage (2022) · 750 mL × 12	\$13.50	\$162.00	

Clovis Wines

FR3223-24	Côtes du Rhône (2024) · 750 mL × 12	\$11.50	\$138.00	
-----------	-------------------------------------	---------	----------	--

Domaine Barge

FR2300-21	Condrieu (2021) · 750 mL × 12	\$48.00	\$576.00	\$460.00/5
-----------	-------------------------------	---------	----------	------------

Domaine Barge Saint-Joseph

FR2303-24	Saint-Joseph Clos de la Ribaudy (2024) · 750 mL × 12	\$45.00	\$540.00	
-----------	--	---------	----------	--

Domaine de L'Harmas

FR471-23	Châteauneuf-du-Pape (2023) · 750 mL × 12	\$27.00	\$324.00	
FR470-23	Côtes du Rhône (2023) · 750 mL × 12	\$12.50	\$150.00	

Domaine de Montvac

FR420-24	Côtes du Rhône Rouge (2024) · 750 mL × 12	\$16.00	\$192.00	
FR422-22	Vacqueyras Arabesque (2022) · 750 mL × 12	\$19.00	\$228.00	

Julien Barge

FR2301-22	Côte-Rôtie Coeur De Combard (2022) · 750 mL × 12	\$87.00	\$1044.00	
FR2302-24	Côtes du Rhône (2024) · 750 mL × 12	\$17.00	\$204.00	

Matthieu Barret

FR0044-21	Cornas Brise Cailloux (2021) · 750 mL × 6	\$46.00	\$276.00	
FR0040-24	Crozes-Hermitage Et La Bannière... (2024) · 750 mL × 12	\$26.00	\$312.00	
FR0042-24	Côtes du Rhône Petit Ours (2024) · 750 mL × 12	\$17.50	\$210.00	
FR0043-24	J'aurai Ta Peau (2024) · 750 mL × 12	\$20.00	\$240.00	

Southwest France

Château Lestignac

SKU	Name	Frontline	One case	Discounts
FR010-24	Blizzard (2024) · 750 mL × 12	\$16.50	\$198.00	
FR013-24	Michel Michel Orange Wine (2024) · 750 mL × 12	\$16.50	\$198.00	
FR013-25	Michel Michel Orange Wine (2025) · 750 mL × 12	\$18.00	\$216.00	

Wine

Germany

Mosel

Weingut Sybille Kuntz

SKU	Name	Frontline	One case	Discounts
G0101-23	Riesling Kabinett Trocken (2023) · 750 mL × 12	\$21.00	\$252.00	
G0100-23	Riesling Qualitätswein Trocken (2023) · 750 mL × 12	\$19.00	\$228.00	

Pfalz

Scheuermann

SKU	Name	Frontline	One case	Discounts
G6106-21	Pfalz Anima Rosé (2021) · 750 mL × 12	\$30.00	\$360.00	\$240.00/5
G6110-23	Pfalz Blanc Trocken (2023) · 750 mL × 12	\$18.00	\$216.00	
G6107-21	Pfalz Weissburgunder Rosengarten (2021) · 750 mL × 12	\$35.00	\$420.00	\$336.00/5
G6105-23	Riesling Trocken (2023) · 750 mL × 12	\$20.00	\$240.00	

Württemberg

Leon Gold

SKU	Name	Frontline	One case	Discounts
G6201-24	Neon Gold (2024) · 750 mL × 12	\$19.00	\$228.00	

Greece

Aegean Islands

Vin Des Potes

SKU	Name	Frontline	One case	Discounts
FR0032-24	Jason Ligas Collaboration Aegean Sea Greek Connection Skin Contact (2024) · 750 mL × 12	\$24.00	\$288.00	

Italy

Distillerie Francoli

SKU	Name	Frontline	One case	Discounts
VM2700-NV	Antico Vermouth Noveis (NV) · 750 mL × 6	\$18.00	\$108.00	

Abruzzo

Da Capogiro

SKU	Name	Frontline	One case	Discounts
IT015-24	Montepulciano d'Abruzzo (2024) · 750 mL × 12	\$8.50	\$102.00	

Basilicata

Wine

Elena Fucci

SKU	Name	Frontline	One case	Discounts
IT526-23	Basilicata Verha Blanco (2023) · 750 mL × 12	\$15.00	\$180.00	
IT525-24	Basilicata Verha Rosso (2024) · 750 mL × 12	\$15.00	\$180.00	
IT525-25	Basilicata Verha Rosso (2025) · 750 mL × 12	\$16.50	\$198.00	

Calabria

Cataldo Calabretta

SKU	Name	Frontline	One case	Discounts
IT497-24	Cirò Bianco (2024) · 750 mL × 12	\$17.50	\$210.00	
IT498-22	Cirò Rosso Classico (2022) · 750 mL × 12	\$16.00	\$192.00	
IT498-23	Cirò Rosso Classico (2023) · 750 mL × 12	\$15.00	\$180.00	
IT496-24	Cirò Rosé (2024) · 750 mL × 12	\$14.00	\$168.00	

Campania

Fattoria La Rivolta

SKU	Name	Frontline	One case	Discounts
IT504-20	Aglianico del Taburno (2020) · 750 mL × 12	\$17.00	\$204.00	
IT5002-22	Beneventano Aglianico I Vigneti Di Bruma (2022) · 750 mL × 12	\$11.00	\$132.00	
IT5001-24	Falanghina I Vigneti Di Bruma (2024) · 750 mL × 12	\$11.00	\$132.00	
IT501-24	Sannio Coda di Volpe (2024) · 750 mL × 12	\$16.00	\$192.00	
IT500-24	Taburno Falanghina (2024) · 750 mL × 12	\$16.50	\$198.00	

Emilia-Romagna

Cantina F.lli Carafoli

SKU	Name	Frontline	One case	Discounts
IT125-NVN	Lambrusco di Modena Nicchia (NV) · 750 mL × 12	\$10.00	\$120.00	
IT126-NVN	Lambrusco di Sorbara L'Onesta (NV) · 750 mL × 12	\$10.50	\$126.00	

La Divina

IT127-NV	Lambrusco Di Sorbara (NV) · 750 mL × 12	\$12.00	\$144.00	
----------	---	---------	----------	--

Friuli-Venezia Giulia

Škerk

SKU	Name	Frontline	One case	Discounts
IT642-22	Venezia Giulia Ograde (2022) · 750 mL × 6	\$40.00	\$240.00	

Lazio

Tenuta Di Fiorano

SKU	Name	Frontline	One case	Discounts
IT461-18	Lazio Fioranello Red Wine (2018) · 750 mL × 6	\$23.00	\$138.00	\$72.00/5
IT461-19	Lazio Fioranello Red Wine (2019) · 750 mL × 6	\$22.00	\$132.00	\$72.00/5
IT460-23	Lazio Fioranello white Wine (2023) · 750 mL × 6	\$20.00	\$120.00	
IT462-14	Lazio Vino Bianco (2014) · 750 mL × 6	\$32.00	\$192.00	\$96.00/5
IT462-18	Lazio Vino Bianco (2018) · 750 mL × 6	\$32.00	\$192.00	
IT463-13	Lazio Vino Rosso (2013) · 750 mL × 6	\$54.00	\$324.00	\$240.00/5

Wine

SKU	Name	Frontline	One case	Discounts
IT463-15	Lazio Vino Rosso (2015) · 750 mL × 6	\$58.00	\$348.00	

Lombardy

Divella Gussago

SKU	Name	Frontline	One case	Discounts
IT6000-21	Blanc de Blancs Alessandra Divella Dosaggio Zero (2021) · 750 mL × 12	\$53.00	\$636.00	
IT6001-19	Clo Clo Dosaggio Zero Rosé (2019) · 750 mL × 6	\$68.00	\$408.00	
IT6001-20	Clo Clo Dosaggio Zero Rosé (2020) · 750 mL × 6	\$75.50	\$453.00	

Marche

Rio Maggio

SKU	Name	Frontline	One case	Discounts
IT424-22	Falerio dei Colli Ascolani Rosso (2022) · 750 mL × 12	\$12.00	\$144.00	

Sartarelli

IT438-NV	Marche Brut Spumante Verdicchio (NV) · 750 mL × 12	\$15.00	\$180.00	
IT435-24	Verdicchio dei Castelli di Jesi Classico (2024) · 750 mL × 12	\$11.50	\$138.00	
IT437-21	Verdicchio dei Castelli di Jesi Classico Superiore Balciana (2021) · 750 mL × 6	\$32.00	\$192.00	
IT436-21	Verdicchio dei Castelli di Jesi Classico Superiore Tralivio (2021) · 750 mL × 12	\$14.00	\$168.00	
IT436-23	Verdicchio dei Castelli di Jesi Classico Superiore Tralivio (2023) · 750 mL × 12	\$14.00	\$168.00	

Valdinevola

KIT113-NVN	Sangiovese Delle (NV) · 20 L keg × 1	\$150.00	-	\$50.00/5
------------	--------------------------------------	----------	---	-----------

Piedmont

Azelia

SKU	Name	Frontline	One case	Discounts
IT0030-23	Barbera d'Alba Punta (2023) · 750 mL × 12	\$29.00	\$348.00	
IT0031-15A	Barolo (2015) · 1.5 L × 6	\$125.00	\$750.00	
IT0031-21	Barolo (2021) · 750 mL × 12	\$38.00	\$456.00	
IT0031-21A	Barolo (2021) · 1.5 L × 6	\$98.00	\$588.00	
IT0032-20	Barolo Bricco Fiasco (2020) · 750 mL × 12 · WE 93	\$75.00	\$900.00	
IT0033-20	Barolo Cerretta (2020) · 750 mL × 12 · WE 92	\$90.00	\$1080.00	
IT0035-12	Barolo Margheria (2012) · 750 mL × 12 · WE 92	\$139.17	\$1670.00	
IT0035-19	Barolo Margheria (2019) · 750 mL × 12	\$75.00	\$900.00	
IT0035-20	Barolo Margheria (2020) · 750 mL × 12 · WE 93	\$75.00	\$900.00	
IT0035-16	Barolo Margheria 100 ^o Anniversario (2016) · 750 mL × 12	\$121.25	\$1455.00	
IT0038-20	Barolo San Rocco (2020) · 750 mL × 12 · WE 93	\$75.00	\$900.00	
IT0034-23	Dolcetto d'Alba Bricco Dell'Oriolo (2023) · 750 mL × 12	\$16.00	\$192.00	
IT0036-22	Langhe Nebbiolo (2022) · 750 mL × 12	\$23.00	\$276.00	

Azienda Agricola Mustela

IT615-22	Barbaresco Karmico (2022) · 750 mL × 12	\$32.00	\$384.00	
IT617-25	Moscato d'Asti (2025) · 750 mL × 12	\$14.00	\$168.00	

Wine

Azienda Agricola Tre Pile

IT177-23	Barbera d'Alba (2023) · 750 mL × 12	\$15.00	\$180.00	
IT176-20	Barolo (2020) · 750 mL × 12	\$30.00	\$360.00	
IT178-19	Barolo Bussia (2019) · 750 mL × 6	\$43.00	\$258.00	
IT1751-24	Langhe Arneis (2024) · 750 mL × 12	\$15.50	\$186.00	

Bricco del Sole

IT610-24	Moscato d'Asti (2024) · 750 mL × 12	\$13.00	\$156.00	
----------	-------------------------------------	---------	----------	--

Campo Costa

IT873-21	Barolo (2021) · 750 mL × 12	\$28.00	\$336.00	
----------	-----------------------------	---------	----------	--

Cascina Luisin

IT0069-20	Barbaresco Asili (2020) · 750 mL × 12	\$51.50	\$618.00	
IT0066-21	Barbaresco Paolin (2021) · 750 mL × 12	\$42.00	\$504.00	
IT0067-20	Barbaresco Rabajà (2020) · 750 mL × 12	\$51.50	\$618.00	
IT0065-23	Barbera d'Alba Maggiur (2023) · 750 mL × 12	\$23.50	\$282.00	
IT0062-23	Langhe Nebbiolo Maggiur (2023) · 750 mL × 12	\$28.00	\$336.00	
IT0063-24	Roero Arneis Ave (2024) · 750 mL × 12	\$18.50	\$222.00	

Curto

IT1991-18	Barolo Arborina (2018) · 750 mL × 12	\$38.00	\$456.00	\$336.00/5
IT1991-20	Barolo Arborina (2020) · 750 mL × 12	\$40.33	\$484.00	
IT1990-20	Barolo La Foia (2020) · 750 mL × 12 · WE 91	\$35.00	\$420.00	

Davide Carlone

IT213-22	Colline Novaresi Nebbiolo (2022) · 750 mL × 12	\$17.00	\$204.00	
IT214-24	Colline Novaresi Nebbiolo Alba Rosa (2024) · 750 mL × 12	\$16.00	\$192.00	
IT212-22	Colline Novaresi Vespolina (2022) · 750 mL × 12	\$18.00	\$216.00	\$180.00/5

Gianfranco Alessandria

IT201-24	Barbera d'Alba (2024) · 750 mL × 12	\$14.00	\$168.00	
IT204-21	Barolo (2021) · 750 mL × 12	\$28.50	\$342.00	
IT205-20	Barolo San Giovanni (2020) · 750 mL × 6 · WE 89	\$48.00	\$288.00	
IT200-23	Dolcetto d'Alba (2023) · 750 mL × 12	\$13.00	\$156.00	
IT203-24	Langhe Nebbiolo (2024) · 750 mL × 12	\$16.50	\$198.00	

Sardinia

Pusole

SKU	Name	Frontline	One case	Discounts
IT921-21	Karamare (2021) · 750 mL × 12	\$24.00	\$288.00	\$120.00/5

Sicily

Cantine Barbera

SKU	Name	Frontline	One case	Discounts
IT792-24	La Bambina Menfi Rosato (2024) · 750 mL × 12	\$14.00	\$168.00	
IT791-24	Lu Còri Menfi Nero d'Avola (2024) · 750 mL × 12	\$14.00	\$168.00	

Wine

SKU	Name	Frontline	One case	Discounts
IT7971-23	Menfi Ammàno #11 Vino Bianco (2023) · 750 mL × 6	\$32.00	\$192.00	
IT798-22	NoTrix Terre Siciliane Perricone (2022) · 750 mL × 12	\$12.00	\$144.00	
IT7961-21	Terre Siciliane Frappato Fuorizona (2021) · 750 mL × 12	\$18.00	\$216.00	\$120.00/5
IT7961-23Q	Terre Siciliane Frappato Fuorizona (2023) · 750 mL × 12	\$18.50	\$222.00	
IT790-23	Tivitti Menfi Inzolia (2023) · 750 mL × 12	\$13.00	\$156.00	
IT790-24	Tivitti Menfi Inzolia (2024) · 750 mL × 12	\$13.00	\$156.00	

Il Vulcano Di Elisa

IT390-24	Terre Siciliane Carricante (2024) · 750 mL × 12	\$20.00	\$240.00	
IT391-24	Terre Siciliane Nerello Mascalese (2024) · 750 mL × 12	\$20.00	\$240.00	

Le Fontane

IT872-22	Cerasuolo di Vittoria (2022) · 750 mL × 12	\$23.00	\$276.00	
IT870-23	Terre Siciliane Calcis (2023) · 750 mL × 12	\$19.00	\$228.00	
IT871-23	Terre Siciliane Sabbie Rosse (2023) · 750 mL × 12	\$19.00	\$228.00	

Passopisciaro

IT367-22	Terre Siciliane Passobianco (2022) · 750 mL × 12	\$21.91	\$262.88	
----------	--	---------	----------	--

Trentino-Alto Adige

Erste & Neue

SKU	Name	Frontline	One case	Discounts
IT286-24	Sauvignon Blanc (2024) · 750 mL × 12	\$15.00	\$180.00	
IT277-24	Südtirol Alto Adige Gewürztraminer (2024) · 750 mL × 12	\$16.50	\$198.00	
IT284-23	Südtirol Alto Adige Lagrein (2023) · 750 mL × 12 · WE 91	\$15.00	\$180.00	
IT283-24	Südtirol Alto Adige Pinot Bianco (2024) · 750 mL × 12	\$15.00	\$180.00	
IT275-24	Südtirol Alto Adige Pinot Grigio (2024) · 750 mL × 12	\$15.00	\$180.00	
IT281-23	Südtirol Alto Adige Pinot Nero (2023) · 750 mL × 12	\$15.00	\$180.00	
IT287-24	Südtirol Alto Adige Riesling (2024) · 750 mL × 12	\$15.00	\$180.00	

Tuscany

Bodega San Gregorio

SKU	Name	Frontline	One case	Discounts
IT123-22	Chianti Colli Senesi Il Palio (2022) · 750 mL × 12	\$10.00	\$120.00	

Fabrizio Dionisio

IT151-23	Cortona Syrah Castagnino (2023) · 750 mL × 12	\$20.00	\$240.00	
IT152-20	Cortona Syrah Il Castagno (2020) · 750 mL × 12	\$27.50	\$330.00	

Gioventu

IT025-24	Chianti (2024) · 750 mL × 12	\$12.00	\$144.00	
----------	------------------------------	---------	----------	--

Il Colle di Caterina Carli

IT726-19	Brunello Di Montalcino (2019) · 750 mL × 12	\$46.00	\$552.00	
IT726-20	Brunello Di Montalcino (2020) · 750 mL × 12	\$46.00	\$552.00	
IT725-21	Rosso Di Montalcino (2021) · 750 mL × 12	\$25.00	\$300.00	
IT725-22	Rosso Di Montalcino (2022) · 750 mL × 12	\$28.00	\$336.00	

Wine

La Palazzetta

IT753-23	Toscana Sangiovese Flavino (2023) · 750 mL × 12	\$11.00	\$132.00
IT753-24	Toscana Sangiovese Flavino (2024) · 750 mL × 12	\$11.00	\$132.00

Lecci E Brocchi

IT767-21	Toscana Il Sangiò (2021) · 750 mL × 12	\$22.00	\$264.00	\$180.00/5
----------	--	---------	----------	------------

Monte Bernardi

IT7761-22	Chianti Classico Italia Ti Adoro Vino Da Tavola (2022) · 750 mL × 12	\$12.00	\$144.00
IT7781-21	Chianti Classico MB1933 (2021) · 750 mL × 12	\$30.00	\$360.00
IT7781-22	Chianti Classico MB1933 (2022) · 750 mL × 12	\$30.00	\$360.00
IT770-22	Chianti Classico Retromarcia (2022) · 750 mL × 12	\$19.00	\$228.00
IT769-22	Chianti Classico Sangiò (2022) · 750 mL × 12	\$17.00	\$204.00
IT769-23	Chianti Classico Sangiò (2023) · 750 mL × 12	\$20.00	\$240.00
IT778-21	Sa'Etta Chianti Classico Riserva (2021) · 750 mL × 12	\$34.00	\$408.00
IT778-22	Sa'Etta Chianti Classico Riserva (2022) · 750 mL × 12	\$41.00	\$492.00
IT774-23	Tzingarella (2023) · 750 mL × 12	\$19.00	\$228.00

Sancaba

IT375-22	Toscana Rosso Pinot Nero (2022) · 750 mL × 6	\$39.46	\$236.79
----------	--	---------	----------

Tenuta Di Trinoro

IT364-22	Toscana Palazzi Rosso (2022) · 750 mL × 6	\$172.76	\$1036.58
IT362-20	Toscana Rosso (2020) · 750 mL × 6 · WE 95	\$241.83	\$1450.98
IT362-21	Toscana Rosso (2021) · 750 mL × 6 · WE 95	\$226.30	\$1357.82

Umbria

Fattoria Di Milziade Antano

SKU	Name	Frontline	One case	Discounts
IT320-24	Grechetto dei Colli Martani (2024) · 750 mL × 12	\$16.00	\$192.00	
IT322-20	Montefalco Riserva Rosso (2020) · 750 mL × 6	\$36.00	\$216.00	
IT325-21	Montefalco Rosso (2021) · 750 mL × 12	\$18.50	\$222.00	
IT323-19	Montefalco Sagrantino (2019) · 750 mL × 6	\$40.00	\$240.00	

Veneto

Circa

SKU	Name	Frontline	One case	Discounts
IT011-24	Delle Venezie Pinot Grigio (2024) (Screw cap) · 750 mL × 12	\$7.50	\$90.00	
IT011-25	Delle Venezie Pinot Grigio (2025) (Screw cap) · 750 mL × 12	\$8.50	\$102.00	

Le Colture

IT714-24	Prosecco Brut Millesimato Rosé (2024) · 750 mL × 12	\$13.00	\$156.00
IT716-NV	Prosecco Valdobbiadene Superiore di Cartizze (NV) · 750 mL × 12 · WE 89	\$21.00	\$252.00
IT710-NVB	Prosecco di Valdobbiadene Fagher (NV) · 375 mL × 12 · WE 88	\$10.00	\$120.00
IT710-NV	Prosecco di Valdobbiadene Fagher (NV) · 750 mL × 12 · WE	\$13.00	\$156.00

Wine

88

Tullia

IT122-NV	Brut Rosé (NV) · 750 mL × 12	\$13.00	\$156.00	
IT120-NV	Prosecco Treviso Brut (NV) · 750 mL × 12	\$11.00	\$132.00	

Valdinevola

KIT111-NVN	Prosecco (NV) · 20 L keg × 1	\$150.00	-	
------------	------------------------------	----------	---	--

Lebanon

Mount Lebanon

Château Belle-Vue (Lebanon)

SKU	Name	Frontline	One case	Discounts
LB1001-08A	Le Chateau (2008) · 1.5 L × 2	\$200.00	\$400.00	\$300.00/5
LB1001-09A	Le Chateau (2009) · 1.5 L × 2	\$175.00	\$350.00	\$300.00/5
LB1001-14	Le Chateau (2014) · 750 mL × 6	\$52.00	\$312.00	
LB1002-22	Petit Geste (2022) · 750 mL × 6	\$40.00	\$240.00	

Mexico

Can De La Calle

SKU	Name	Frontline	One case	Discounts
VM0900-NV	Mexican Agave Wine (NV) · 750 mL × 12	\$15.00	\$180.00	

New Zealand

Marlborough

Rain

SKU	Name	Frontline	One case	Discounts
NZ250-25	Sauvignon Blanc Marlborough (2025) · 750 mL × 12	\$12.50	\$150.00	

Portugal

Tiago Teles

SKU	Name	Frontline	One case	Discounts
P111-23	RAIZ Tinto (2023) · 750 mL × 12	\$17.00	\$204.00	
P110-23	Raiz White (2023) · 750 mL × 12	\$18.00	\$216.00	

Bairrada

Tiago Teles

SKU	Name	Frontline	One case	Discounts
P112-23	Barraida Gilda (2023) · 750 mL × 12	\$16.50	\$198.00	

Wine

Douro

Casa Santa Eufémia

SKU	Name	Frontline	One case	Discounts
P212-NV	10 Years Old Tawny Porto (NV) · 750 mL × 6	\$28.00	\$168.00	
P213-NV	20 Years Old Tawny Porto (NV) · 750 mL × 6	\$52.00	\$312.00	
P211-NV	Ruby Porto (NV) · 750 mL × 6	\$12.00	\$72.00	
P210-NV	Tawny Porto (NV) · 750 mL × 6	\$12.00	\$72.00	\$57.60/5

Vinho Verde

Brisa Suave

SKU	Name	Frontline	One case	Discounts
P410-24L	Vinho Verde (2024) · 1 L × 12	\$13.00	\$156.00	
P412-24L	Vinho Verde Explosivo Vinho Tinto (2024) · 1 L × 12	\$14.00	\$168.00	
P411-24L	Vinho Verde Rosé (2024) · 1 L × 12	\$13.00	\$156.00	

Slovakia

Southern Slovakia

Château Belá

SKU	Name	Frontline	One case	Discounts
SK100-20	Riesling (2020) · 750 mL × 12	\$22.00	\$264.00	

South Africa

Western Cape

Aslina Wines

SKU	Name	Frontline	One case	Discounts
SA301-23	Cabernet Sauvignon (2023) · 750 mL × 12	\$23.00	\$276.00	
SA300-23	Chardonnay Western Cape (2023) · 750 mL × 12	\$17.50	\$210.00	
SA300-24	Chardonnay Western Cape (2024) · 750 mL × 12	\$18.00	\$216.00	
SA304-23	Chenin Blanc Skin Contact Stellenbosch (2023) · 750 mL × 12	\$21.00	\$252.00	
SA303-24	Sauvignon Blanc Stellenbosch (2024) · 750 mL × 12	\$16.50	\$198.00	
SA302-22	Umsasane Stellenbosch (2022) · 750 mL × 12	\$26.00	\$312.00	

Lubanzi

SA102-25	Chenin Blanc Swartland (2025) · 12 oz × 24	\$4.50	\$108.00	
SA100-25	Chenin Blanc Swartland (2025) · 750 mL × 12	\$12.00	\$144.00	
SA108-24	Cinsault Swartland (2024) · 750 mL × 12	\$12.00	\$144.00	
SA107-24	Orange Is Skin Contact Swartland (2024) · 750 mL × 12	\$17.00	\$204.00	
SA101-23	Red Blend Coastal Region (2023) · 750 mL × 12	\$12.00	\$144.00	
SA103-23	Red Blend Coastal Region (2023) · 12 oz can × 24	\$4.50	\$108.00	
SA105-NV	Rosé Bubbles Coastal Region (NV) · 750 mL × 12 · WE 88	\$12.00	\$144.00	
SA104-NV	Rosé Bubbles Coastal Region (NV) · 250 mL can × 24 · WE 88	\$3.50	\$84.00	
SA109-24	Sauvignon Blanc Coastal Region (2024) · 750 mL × 12	\$12.00	\$144.00	
SA109-250	Sauvignon Blanc Coastal Region (2025) · 250 mL can × 24	\$3.88	\$93.00	

Wine

Spain

Gulp/Hablo

SKU	Name	Frontline	One case	Discounts
SP628-24L	Fresco (2024) · 1 L × 12	\$13.00	\$156.00	
SP628-NVO	Fresco (NV) · 250 mL can × 24	\$4.00	\$96.00	

Andalucía

Bodegas Del Río

SKU	Name	Frontline	One case	Discounts
SP510-NV	Manzanilla Solera Fina Azul Joven (NV) · 750 mL × 6	\$21.00	\$126.00	
SP511-NV	Manzanilla Solera Oro Pasada (NV) · 750 mL × 6	\$27.00	\$162.00	

Viña Callejuela

SP1142-21	Las Mercedes (2021) · 750 mL × 12	\$10.00	\$120.00	\$60.00/5
-----------	-----------------------------------	---------	----------	-----------

Balearic Islands

4 Kilos

SKU	Name	Frontline	One case	Discounts
SP475-22	12 Volts Tierra de Mallorca (2022) · 750 mL × 6	\$23.00	\$138.00	
SP477-22	Mallorca Motor América (2022) · 750 mL × 12	\$17.50	\$210.00	
SP478-22	Mallorca Motor Blanc (2022) · 750 mL × 12	\$18.00	\$216.00	

Basque Country

Gaintza

SKU	Name	Frontline	One case	Discounts
SP196-24	Getariako Txakolina Bixigu Blanco (2024) · 750 mL × 12	\$15.00	\$180.00	

Castilla y León

Bodegas Arzuaga

SKU	Name	Frontline	One case	Discounts
SP402-21	Reserva (2021) · 750 mL × 6	\$50.00	\$300.00	
SP401-22	Ribera del Duero Crianza (2022) · 750 mL × 12	\$29.00	\$348.00	
SP403-19	Ribera del Duero Gran Reserva (2019) · 750 mL × 6	\$100.00	\$600.00	
SP400-23	Ribera del Duero La Planta (2023) · 750 mL × 12	\$14.50	\$174.00	

Rico Nuevo

SP230-22	Cebreros Garnacha (2022) · 750 mL × 12	\$14.50	\$174.00	
SP233-21	Cebreros Garnacha Al Raso (2021) · 750 mL × 6	\$27.00	\$162.00	\$114.00/5
SP235-20	Cebreros Garnacha Jirón De Neibla (2020) · 750 mL × 6	\$25.00	\$150.00	\$102.00/5

Castilla-La Mancha

Bodegas Arzuaga

SKU	Name	Frontline	One case	Discounts
SP410-20	Pago Florentino (2020) · 750 mL × 12	\$18.50	\$222.00	

Wine

Bodegas Parra Jimenez

SP629-NVO	Gulp Hablo Rosé (NV) · 250 mL can × 24	\$4.00	\$96.00
-----------	--	--------	---------

Bodegas Y Viñedos Ponce

SP489-21	Manchuela (2021) · 750 mL × 6	\$40.00	\$240.00	\$180.00/5
SP489-22	Manchuela (2022) · 750 mL × 6	\$44.00	\$264.00	
SP480-23	Manchuela Albillo Ponce (2023) · 750 mL × 12	\$14.00	\$168.00	
SP481-24	Manchuela Bobal Clos Lojen (2024) · 750 mL × 12	\$11.00	\$132.00	
SP484-24	Manchuela Bobal P.F (2024) · 750 mL × 12	\$17.00	\$204.00	
SP490-24	Manchuela Monastrell Depaula (2024) · 750 mL × 12	\$10.00	\$120.00	
SP486-22	Manchuela Pino (2022) · 750 mL × 6	\$25.00	\$150.00	

Friend & Farmer

SP621-24	Red Wine (2024) · 750 mL × 12	\$9.50	\$114.00
SP620-24	White Wine (2024) · 750 mL × 12	\$10.00	\$120.00

Gulp/Hablo

SP626-24L	Garnacha (2024) · 1 L × 12	\$13.00	\$156.00
SP627-24L	Orange (2024) · 1 L × 12	\$15.00	\$180.00
SP627-NVO	Orange (NV) · 250 mL can × 24	\$4.00	\$96.00
SP624-24L	Vamos! Red Blend (2024) · 1 L × 12	\$13.00	\$156.00
SP625-24LQ	Verdejo White Wine (2024) · 1 L × 12	\$13.00	\$156.00
SP625-NVO	Verdejo White Wine (NV) · 250 mL can × 24	\$4.00	\$96.00

Catalonia

Albet I Noya

SKU	Name	Frontline	One case	Discounts
SP725-23	Penedès Petit Albet Brut Reserva Traditional Method (2023) · 750 mL × 12	\$14.50	\$174.00	
SP726-23	Penedès Petit Albet Brut Rosé Reserva (2023) · 750 mL × 12	\$14.50	\$174.00	

Sara & René Viticultors

SP502-21	Priorat Garnatxa Blanca Gratallops Partida Bellvisos (2021) · 750 mL × 6	\$54.00	\$324.00	
SP500-21	Priorat Garnatxa Partida Pedrer (2021) · 750 mL × 6	\$32.00	\$192.00	\$144.00/5
SP500-22	Priorat Garnatxa Partida Pedrer (2022) · 750 mL × 6	\$39.00	\$234.00	
SP503-18	Priorat Garnatxa Peluda Caranyana Gratallops Partida Bellvisos (2018) · 750 mL × 6	\$58.00	\$348.00	

Galicia

Luz De Faro

SKU	Name	Frontline	One case	Discounts
SP602-24	Rías Baixas Albariño (2024) · 750 mL × 12	\$14.00	\$168.00	

Narupa

SP981-19N	Alala' Albariño Rias Baixas (2019) · 750 mL × 12	\$19.00	\$228.00	\$156.00/5
SP980-24	Rías Baixas Albariño Caneco (2024) · 750 mL × 12	\$16.00	\$192.00	

Wine

Madrid

Bodegas Marc Isart

SKU	Name	Frontline	One case	Discounts
SP496-21	...La Maldición Vinos de Madrid Malvar De Valdilecha (2021) · 750 mL × 12	\$12.00	\$144.00	\$60.00/5

Rioja

Alonso & Pedrajo

SKU	Name	Frontline	One case	Discounts
SP131-19	Rioja Suañé Reserva Blanco (2019) · 750 mL × 6	\$33.00	\$198.00	
SP133-20	Rioja Suañé Reserva Rosado (2020) · 750 mL × 6	\$33.00	\$198.00	

Gomez Cruzado

SP160-24	Rioja Blanco (2024) · 750 mL × 12	\$14.00	\$168.00	
SP161-22	Rioja Crianza (2022) · 750 mL × 12	\$16.00	\$192.00	
SP164-19	Rioja Honorable (2019) · 750 mL × 6	\$30.00	\$180.00	
SP163-22	Rioja Predilecto (2022) · 750 mL × 6	\$18.00	\$108.00	
SP162-18	Rioja Viña Dorana Reserva (2018) · 750 mL × 6	\$27.00	\$162.00	

United States

American Wine Project

SKU	Name	Frontline	One case	Discounts
WI903-NV	Flower Pop (NV) · 750 mL × 12	\$16.00	\$192.00	

California

Camp

SKU	Name	Frontline	One case	Discounts
T1002-23	Cabernet Sauvignon North Coast (2023) · 750 mL × 12	\$16.00	\$192.00	
T1000-24	Chardonnay North Coast (2024) · 750 mL × 12	\$14.50	\$174.00	
T1001-23	Merlot North Coast (2023) · 750 mL × 12	\$16.00	\$192.00	
T1001-24	Merlot North Coast (2024) · 750 mL × 12	\$16.00	\$192.00	
T1003-23	Zinfandel North Coast (2023) · 750 mL × 12	\$16.00	\$192.00	

Crosby

T0700-22N	Cabernet Sauvignon California (2022) · 750 mL × 12	\$10.50	\$126.00	
-----------	--	---------	----------	--

Farella Vineyard

T09003-19	Alta Napa Valley (2019) · 750 mL × 12	\$90.00	\$1080.00	
T09002-21	Cabernet Sauvignon Estate Grown Coombsville (2021) · 750 mL × 12	\$54.00	\$648.00	
T09001-19	Merlot Estate Grown Coombsville (2019) · 750 mL × 12	\$35.00	\$420.00	

Farella-Park Vineyards

T09000-24	Sauvignon Blanc La Luce Estate Bottled Napa Valley (2024) · 750 mL × 12	\$26.00	\$312.00	
-----------	---	---------	----------	--

Wine

Folk Machine

T1023-23	Parts & Labor Red California (2023) · 750 mL × 12	\$16.00	\$192.00
T1022-23	Pinot Noir Central Coast (2023) · 750 mL × 12	\$16.50	\$198.00
T1020-24	Sauvignon Blanc Potter Valley (2024) · 750 mL × 12	\$16.50	\$198.00
T1021-24	White Light (2024) · 750 mL × 12	\$13.50	\$162.00

Folk Tree

T07064-22	Village Series Cabernet Sauvignon Lodi (2022) · 750 mL × 12	\$12.00	\$144.00
T07062-23	Village Series Chardonnay Lodi (2023) · 750 mL × 12	\$11.00	\$132.00
T07063-23	Village Series Pinot Noir Lodi (2023) · 750 mL × 12	\$11.50	\$138.00

Forlorn Hope

T04047L-23	Queen Of The Sierra Rorick Heritage Vineyard Amber (2023) · 750 mL × 12	\$16.00	\$192.00
T04048L-23	Queen Of The Sierra Rorick Heritage Vineyard Estate Co-Fermented (2023) · 750 mL × 12	\$16.00	\$192.00
T04046L-23	Queen Of The Sierra Rorick Heritage Vineyard Red (2023) · 750 mL × 12	\$16.00	\$192.00
T04037L-22	Queen Of The Sierra Rorick Heritage Vineyard Rosé Calaveras County (2022) · 750 mL × 12	\$14.00	\$168.00
T04045L-23	Queen Of The Sierra Rorick Heritage Vineyard White Calaveras County (2023) · 750 mL × 12	\$16.00	\$192.00
T04041-15	Sémillon Nacré Yount Mill Vineyard Napa Valley (2015) · 750 mL × 12	\$18.00	\$216.00
T040436-21	Trousseau ODB Rorick Heritage Vineyard (2021) · 750 mL × 12	\$24.00	\$288.00

HRW

T02007-23	Cabernet Sauvignon Napa Valley (2023) · 750 mL × 12	\$24.00	\$288.00
T02006-20	Napa Valley Zinfandel (2020) · 750 mL × 12	\$17.00	\$204.00
T02005-23	Pinot Noir Napa Valley (2023) · 750 mL × 12	\$18.50	\$222.00

Hendry

T02000-24	Albariño Hendry Ranch Napa Valley (2024) · 750 mL × 12	\$23.50	\$282.00
T02002-22B	Barrel-Fermented Chardonnay Napa Valley (2022) · 375 mL × 12 · WE 92	\$18.50	\$222.00
T02002-23	Barrel-Fermented Chardonnay Napa Valley (2023) · 750 mL × 12	\$31.50	\$378.00
T02001-24	Chardonnay Unoaked Napa Valley (2024) · 750 mL × 12	\$23.00	\$276.00
T02004-06A	Napa Valley Cabernet Sauvignon Hendry Vineyard (2006) · 1.5 L × 6	\$200.00	\$1200.00
T02004-21	Napa Valley Cabernet Sauvignon Hendry Vineyard (2021) · 750 mL × 6 · WE 93	\$60.00	\$360.00
T02003-16A	Napa Valley Zinfandel Block 7 & 22 (2016) · 1.5 L × 6	\$83.00	\$498.00
T02003-19B	Napa Valley Zinfandel Block 7 & 22 (2019) · 375 mL × 12 · WE 94	\$18.00	\$216.00
T02003-20B	Napa Valley Zinfandel Block 7 & 22 (2020) · 375 mL × 12 · WE 93	\$18.00	\$216.00
T02003-22	Napa Valley Zinfandel Block 7 & 22 (2022) · 750 mL × 12	\$32.50	\$390.00
T02003-13A	Napa Valley Zinfandel Blocks 7 & 22 (2013) · 1.5 L × 6	\$90.00	\$540.00

Wine

Inconnu

T1144-22	Cabernet Sauvignon No Gods No Masters California (2022) · 750 mL × 12	\$23.17	\$278.00
T1141-22	Kitsune (2022) · 750 mL × 12	\$23.00	\$276.00

Joey Tensley

T068266-21	Fundamental White Wine Central Coast (2021) · 750 mL × 12	\$16.00	\$192.00	\$120.00/5
------------	---	---------	----------	------------

Kazumi Wines

T1161-22	Cabernet Sauvignon Skellenger Vineyard Oakville (2022) · 750 mL × 12	\$73.33	\$880.00
T1160-24	Koshu Napa Valley (2024) · 750 mL × 12	\$47.00	\$564.00

Lieu Dit

T01810L-24	Blanc De Mer Santa Barbara County (2024) · 750 mL × 12	\$17.00	\$204.00
T01806L-23	Cabernet Franc Sans Soufre Santa Ynez Valley (2023) · 750 mL × 12	\$25.00	\$300.00
T01803L-23	Cabernet Franc Santa Ynez Valley (2023) · 750 mL × 12	\$23.50	\$282.00
T01809L-23	Cabernet Sauvignon Santa Ynez Valley (2023) · 750 mL × 12	\$23.50	\$282.00
T01807L-16	Chenin Blanc Jurassic Park Vineyard Santa Ynez Valley (2016) · 750 mL × 12	\$22.00	\$264.00
T01801L-23	Chenin Blanc Santa Ynez Valley (2023) · 750 mL × 12	\$17.50	\$210.00
T01801L-24	Chenin Blanc Santa Ynez Valley (2024) · 750 mL × 12	\$18.00	\$216.00
T01805L-24	Rosé of Cabernet Franc Santa Barbara County (2024) · 750 mL × 12	\$19.00	\$228.00
T01800L-23	Sauvignon Blanc Santa Ynez Valley (2023) · 750 mL × 12	\$17.50	\$210.00
T01800L-24	Sauvignon Blanc Santa Ynez Valley (2024) · 750 mL × 12	\$18.00	\$216.00

Lucia

T06910-23	Chardonnay Santa Lucia Highlands (2023) · 750 mL × 12	\$37.50	\$450.00
T06911-23	Pinot Noir Santa Lucia Highlands (2023) · 750 mL × 12	\$41.50	\$498.00
T06914-23	Pinot Noir Soberanes Vineyard Santa Lucia Highlands (2023) · 750 mL × 12	\$52.00	\$624.00

Lucy

T06917-24	Gamay Noir Santa Lucia Highlands (2024) · 750 mL × 12	\$23.50	\$282.00
-----------	---	---------	----------

Luli

T06926-23	Cabernet Sauvignon Napa Valley (2023) · 750 mL × 12	\$30.00	\$360.00
T06921-24	Chardonnay Santa Lucia Highlands (2024) · 750 mL × 12	\$21.00	\$252.00
T06925-23	Pinot Noir Lemoravo Vineyard Santa Lucia Highlands (2023) · 750 mL × 12	\$30.00	\$360.00
T06922-22	Pinot Noir Santa Lucia Highlands (2022) · 750 mL × 12 · WE 93	\$23.50	\$282.00
T06920-24	Sauvignon Blanc Arroyo Seco (2024) · 750 mL × 12	\$19.00	\$228.00
T06923-23	Syrah Santa Lucia Highlands (2023) · 750 mL × 12	\$21.00	\$252.00

Mallea

T1211-23	Grenache Blanc Santa Barbara County (2023) · 750 mL × 12	\$16.00	\$192.00
T1212-22	Grenache Syrah Mourvèdre Santa Barbara County (2022) · 750 mL × 12	\$16.00	\$192.00

Wine

750 mL × 12

Matthiasson

T029117-22	Cabernet Franc Napa Valley (2022) · 750 mL × 12	\$49.00	\$588.00
T029093-21	Cabernet Sauvignon Napa Valley (2021) · 750 mL × 12	\$60.00	\$720.00
T029093-22	Cabernet Sauvignon Napa Valley (2022) · 750 mL × 12	\$60.00	\$720.00
T029104-21	Cabernet Sauvignon Phoenix Vineyard Napa Valley (2021) · 750 mL × 12	\$109.00	\$1308.00
T029104-22	Cabernet Sauvignon Phoenix Vineyard Napa Valley (2022) · 750 mL × 12	\$109.00	\$1308.00
T029100-22	Cabernet Sauvignon Village Napa Valley (2022) · 750 mL × 12	\$35.00	\$420.00
T02901-23	Chardonnay Linda Vista Vineyard Napa Valley (2023) · 750 mL × 12	\$28.00	\$336.00
T029098-21	Chardonnay Michael Mara Vineyard Sonoma Coast (2021) · 750 mL × 12	\$63.00	\$756.00
T02903-22	Ribolla Gialla Matthiasson Vineyard Napa Valley (2022) · 750 mL × 12	\$37.50	\$450.00
T029120-21	Sémillon Yount Mill Vineyard Napa Valley (2021) · 750 mL × 12	\$38.00	\$456.00
T029113-23	Vermentino Cressida Vineyard Carneros (2023) · 750 mL × 12	\$25.00	\$300.00
T02902-22	White Wine Napa Valley (2022) · 750 mL × 12	\$30.00	\$360.00

Mommenpop

T05300-NVI	Blood Orange Aperitif Wine (NV) (New label) · 750 mL × 12	\$25.00	\$300.00
T05317-NV	Blood Orange Spritz-Pop (NV) · 750 mL × 12	\$16.50	\$198.00
T05317-NVK	Blood Orange Spritz-Pop (NV) · 20 L keg × 1	\$330.00	-
T05304-NVI	Makrut Lime Pop Apertiff Wine (NV) (New label) · 750 mL × 12	\$25.00	\$300.00
T05301-NVI	Ruby Grapefruit Aperitif Wine (NV) (New label) · 750 mL × 12	\$25.00	\$300.00
T05302-NVI	Seville Orange Apertiff Wine (NV) (New label) · 750 mL × 12	\$25.00	\$300.00

POE

T05204-15	Blanc de Blancs Manchester Ridge Vineyard Mendocino Ridge (2015) · 750 mL × 12	\$37.00	\$444.00	\$240.00/5
T05205-22	Dolcetto Split Rock Ranch Mendocino (2022) · 750 mL × 12	\$16.00	\$192.00	
T05203-22	Rosé Of Grenache Split Rock Ranch Mendocino County (2022) · 750 mL × 12	\$18.00	\$216.00	\$120.00/5

Pisoni Estate

T06915-23	Pinot Noir Santa Lucia Highlands (2023) · 750 mL × 6	\$83.00	\$498.00
-----------	--	---------	----------

Roar

T06993-21	Pinot Noir Santa Lucia Highlands (2021) · 750 mL × 12 · WE 94	\$40.00	\$480.00	\$420.00/5
T06996-21	Pinot Noir Sierra Mar Vineyard Santa Lucia Highlands (2021) · 750 mL × 6 · WE 95	\$57.00	\$342.00	\$270.00/5

Sans Wine Co.

T08004-21K	Rosé Of Carignan Poor Ranch Vineyards Mendocino County	\$300.00	-	\$50.00/5
------------	--	----------	---	-----------

Wine

(2021) · 20 L keg × 1

Ultraviolet

T05100-24	Cabernet Sauvignon California (2024) · 750 mL × 12	\$13.00	\$156.00
T05101-NVQ	Sparkling Rosé California (NV) (New label) · 750 mL × 12 · WE 85	\$14.00	\$168.00

Workbook

T1027-24K	Red Blend (2024) · 20 L keg × 1	\$225.00	-
T1028-24K	White Blend (2024) · 20 L keg × 1	\$225.00	-

New York

Method Spirits

SKU	Name	Frontline	One case	Discounts
VM4001-NV	Dry Vermouth (NV) · 750 mL × 12	\$16.50	\$198.00	
VM4000-NV	Sweet Vermouth (NV) · 750 mL × 12	\$16.50	\$198.00	

Oregon

00 Wines

SKU	Name	Frontline	One case	Discounts
OR631-22	Chardonnay Seven Springs Eola-Amity Hills (2022) · 750 mL × 6	\$92.00	\$552.00	
OR625-22	Chardonnay VGW Willamette Valley (2022) · 750 mL × 6	\$60.00	\$360.00	

Evesham Wood

OR01016-24	Blanc Du Puits Sec Eola-Amity Hills (2024) · 750 mL × 12	\$16.00	\$192.00
OR01012-22	Pinot Noir Le Puits Sec Eola-Amity Hills (2022) · 750 mL × 12	\$40.00	\$480.00
OR01011-24	Pinot Noir Willamette Valley (2024) · 750 mL × 12	\$19.00	\$228.00

Haden Fig

OR02201-23	Chardonnay Willamette Valley (2023) · 750 mL × 12	\$20.50	\$246.00	
OR0223-21	Juliette Chardonnay Willamette Valley (2021) · 750 mL × 12	\$28.50	\$342.00	\$300.00/5
OR0223-22	Juliette Chardonnay Willamette Valley (2022) · 750 mL × 12	\$29.00	\$348.00	\$300.00/5
OR0223-23	Juliette Chardonnay Willamette Valley (2023) · 750 mL × 12	\$30.00	\$360.00	
OR0225-21	Pinot Noir Cancilla Vineyard Willamette Valley (2021) · 750 mL × 12	\$28.50	\$342.00	\$288.00/5
OR0225-22	Pinot Noir Cancilla Vineyard Willamette Valley (2022) · 750 mL × 12	\$29.00	\$348.00	\$288.00/5
OR0227-22	Pinot Noir Croft Vineyard Willamette Valley (2022) · 750 mL × 12	\$29.00	\$348.00	\$288.00/5
OR0224-22	Pinot Noir Freedom Hill Willamette Valley (2022) · 750 mL × 12	\$29.00	\$348.00	\$288.00/5
OR0221-23	Pinot Noir Willamette Valley (2023) · 750 mL × 12	\$20.50	\$246.00	

Illaha Vineyards

OR1134L-NV	Cap Fizz Sparkling Willamette Valley (NV) · 750 mL × 12	\$20.00	\$240.00
OR1134L-NVB	Capitol Fizz Sparkling Rosé Wine Willamette Valley (NV) · 187 mL × 24	\$5.00	\$120.00
OR1129L-25	Pinot Gris Estate Willamette Valley (2025) · 750 mL × 12	\$17.50	\$210.00

Combo

OR1125L-22	Pinot Noir 1899 Project Willamette Valley (2022) · 750 mL × 6	\$65.00	\$390.00	
OR1137L-24	Pinot Noir Cuvée Miette Willamette Valley (2024) · 750 mL × 12	\$16.50	\$198.00	
OR1132L-25	Tempranillo Rosé Willamette Valley (2025) · 750 mL × 12	\$17.00	\$204.00	
OR1131L-24	Viognier Willamette Valley (2024) · 750 mL × 12	\$18.00	\$216.00	
OR1126L-22	Willamette Valley Pinot Noir Bon Sauvage (2022) · 750 mL × 12	\$31.00	\$372.00	
OR1130L-23	Willamette Valley Pinot Noir Estate (2023) · 750 mL × 12	\$22.00	\$264.00	

Washington

Thurston Wolfe

SKU	Name	Frontline	One case	Discounts
WA1225L-22	Cabernet Sauvignon The Teacher Horse Heaven Hills (2022) · 750 mL × 12	\$19.00	\$228.00	
WA1226L-22	Columbia Valley Family Red (2022) · 750 mL × 12	\$14.00	\$168.00	
WA1228L-24	PGV Columbia Valley (2024) · 750 mL × 12	\$13.50	\$162.00	
WA1227L-22	Petite Sirah Zephyr Ridge Vineyard (2022) · 750 mL × 12	\$15.50	\$186.00	
WA1230L-22	Thurston Wolfe Zinfandel (2022) · 750 mL × 12	\$16.00	\$192.00	
WA1229L-20B	Touriga Nacional Port Yakima Valley (2020) · 375 mL × 12	\$13.00	\$156.00	
WA1230L-21	Zinfandel Howling Wolfe (2021) · 750 mL × 12	\$15.50	\$186.00	

Two Mountain Winery

WA1280L-22	Merlot Yakima Valley (2022) · 750 mL × 12	\$16.00	\$192.00	
------------	---	---------	----------	--

Wisconsin

American Wine Project

SKU	Name	Frontline	One case	Discounts
WI900-20	Brianna Summer Land (2020) · 750 mL × 12	\$21.00	\$252.00	\$180.00/5
WI900-21	Brianna Summer Land (2021) · 750 mL × 12	\$20.00	\$240.00	
WI904-NV	Social Creature Rosé (NV) · 750 mL × 12	\$17.00	\$204.00	
WI901-20	Song Of Myself (2020) · 750 mL × 12	\$21.00	\$252.00	
WI902-NV	Switch Theory Red Wine (NV) · 750 mL × 12	\$19.00	\$228.00	
WI902-NV5	Switch Theory V.5 Red Wine (NV) · 750 mL × 12	\$19.00	\$228.00	

Combo

Italy

Piedmont

Azelia

SKU	Name	Frontline	One case	Discounts
IT0038-NV	Barolo San Rocco Vertical Pack (NV) · 750 mL × 6 · 2 bottles each - 2016, 2017, 2021	\$100.00	\$600.00	

Index

00 Wines

Wine: Burgundy11
Wine: Oregon31

4 Kilos

Wine: Balearic Islands25

Albet I Noya

Wine: Catalonia26

Alexis Hudon

Wine: Loire Valley14

Alhambra

Wine: Mendoza7

Alonso & Pedrajo

Wine: Rioja27

Alpamanta

Wine: Mendoza8

Amaro Cinpatrazzo

Spirits : Illinois6

American Wine Project

Wine: United States27

Wine: Wisconsin32

Anne Pichon

Wine: France9

Wine: Rhône Valley16

Apologue

Spirits : Illinois6

Armand Heitz

Wine: Burgundy11

Aslina Wines

Wine: Western Cape24

Azar Spirits

Spirits : Mexico City4

Azelia

Combo: Piedmont32

Wine: Piedmont19

Azienda Agricola Mustela

Wine: Piedmont19

Azienda Agricola Tre Pile

Wine: Piedmont20

Bodega San Gregorio

Wine: Tuscany21

Bodegas Arzuaga

Wine: Castilla y León25

Wine: Castilla-La Mancha25

Bodegas Del Río

Wine: Andalucía25

Bodegas Marc Isart

Wine: Madrid27

Bodegas Parra Jimenez

Wine: Castilla-La Mancha26

Bodegas Y Viñedos Ponce

Wine: Castilla-La Mancha26

Borsci

Spirits : Puglia3

Borsci Liquori

Spirits : Puglia3

Bricco del Sole

Wine: Piedmont20

Brisa Suave

Wine: Vinho Verde24

Brut Cattin

Wine: Alsace10

Camp

Wine: California27

Campo Costa

Wine: Piedmont20

Can De La Calle

Wine: Mexico23

Cantina F.lli Carafoli

Wine: Emilia-Romagna18

Cantine Barbera

Wine: Sicily20

Casa Julia

Wine: Central Valley8

Casa Santa Eufémia

Wine: Douro24

Cascina Luisin

Wine: Piedmont20

Cataldo Calabretta

Wine: Calabria18

Champagne André Heucq

Wine: Champagne12

Champagne Jacquinet-Dumez

Wine: Champagne12

Champagne Lelarge-Pugeot

Wine: Champagne12

Champagne Pertois-Moriset

Wine: Champagne13

Champagne Solemme

Wine: Champagne13

Champagne Ullens

Wine: Champagne13

Château Beauséjour

Wine: Bordeaux10

Wine: Languedoc-Roussillon13

Château Belle-Vue (Lebanon)

Wine: Mount Lebanon23

Château Belá

Wine: Southern Slovakia24

Château Bouchereau

Wine: Bordeaux10

Château Coussin

Wine: Provence15

Château La Croix

Wine: Bordeaux10

Château La Croix-Toulifaut

Wine: Bordeaux10

Château Le Coteau

Wine: Bordeaux10

Château Les Clauzots

Wine: Bordeaux10

Château Lestignac

Wine: Southwest France16

Château Pigoudet

Wine: Provence15

Château de Bonhoste

Wine: Bordeaux10

Cinquante-Cinq

Wine: Languedoc-Roussillon13

Circa

Wine: Veneto22

Clovis Wines

Wine: Rhône Valley16

Clément & Florian Berthier

Wine: France9

Wine: Loire Valley14

Crosby

Wine: California27

Cuentacuentos

Spirits : Mexico3

Spirits : Durango4

Spirits : Jalisco4

Spirits : Oaxaca4

Curto

Wine: Piedmont20

Da Capogiro

Wine: Abruzzo17

Dampfwerk Distilling

Spirits : United States5

Spirits : Minnesota7

Davide Carlone

Wine: Piedmont20

Distillerie Francoli

Spirits : Piedmont3

Wine: Italy17

Divella Gussago

Wine: Lombardy19

Domaine Barge

Wine: Rhône Valley16

Domaine Barge Saint-Joseph

Wine: Rhône Valley16

Domaine Chatelain De Oliveira

Wine: Burgundy11

Domaine Damien Pinon

Wine: Loire Valley14

Domaine Daniel Dampt & Fils

Wine: Burgundy11

Domaine De L'Enclos	Wine: California28	Wine: California29
Wine: Burgundy11	Forlorn Hope	Kyrö Distillery Company
Domaine Fichet	Wine: California28	Spirits : Finland2
Wine: Burgundy11	François Ducrot	La Divina
Domaine Henri et Didier	Wine: Languedoc-Roussillon13	Wine: Emilia-Romagna18
Delagrange	Friend & Farmer	La Gritona
Wine: Burgundy11	Wine: Castilla-La Mancha26	Spirits : Jaisco4
Domaine Jean-Michel Gaunoux	Fumey Chatelain	La Palazzetta
Wine: Burgundy11	Wine: Jura13	Wine: Tuscany22
Domaine Philippe Raimbault	Gaintza	Lagrimas de Dolores
Wine: Loire Valley14	Wine: Basque Country25	Spirits : Durango4
Domaine de L'Harmas	Gianfranco Alessandria	Le Colture
Wine: Rhône Valley16	Wine: Piedmont20	Wine: Veneto22
Domaine de Montvac	Gioventu	Le Fontane
Wine: Rhône Valley16	Wine: Tuscany21	Wine: Sicily21
Domaine de la Grande Courraye	Gomez Cruzado	Lecci E Brocchi
Wine: Bordeaux10	Wine: Rioja27	Wine: Tuscany22
Domaine du Grand Moulin	Gulp/Hablo	Leon Gold
Wine: Loire Valley14	Wine: Spain25	Wine: Württemberg17
Echeverria	Wine: Castilla-La Mancha26	Lieu Dit
Wine: Central Valley8	Gustav	Wine: California29
Egon	Wine: Niederösterreich8	Lise & Bertrand Jousset
Wine: Niederösterreich8	HRW	Wine: Loire Valley14
Elena Fucci	Wine: California28	Los Nahuales
Wine: Basilicata18	Haden Fig	Spirits : Durango4
Empirical	Wine: Oregon31	Spirits : Oaxaca5
Spirits : New York7	Hendry	Lubanzi
Empirical Spirits	Wine: California28	Wine: Western Cape24
Spirits : Denmark2	Henri Dufières	Lucia
Spirits : California5	Wine: Burgundy12	Wine: California29
Eric Artiguelongue	Henry Varnay	Lucy
Spirits : Armagnac2	Wine: Loire Valley14	Wine: California29
Erste & Neue	Hoste	Luli
Wine: Trentino-Alto Adige21	Spirits : United States5	Wine: California29
Evesham Wood	Spirits : Illinois6	Luz De Faro
Wine: Oregon31	Spirits : Kentucky6	Wine: Galicia26
Fabrizio Dionisio	Il Colle di Caterina Carli	Mahu
Wine: Tuscany21	Wine: Tuscany21	Wine: Central Valley9
Faccia Brutto	Il Vulcano Di Elisa	Maison Artonic
Spirits : New York7	Wine: Sicily21	Wine: Provence16
Famille Sumeire	Illahe Vineyards	Maison Jaune (Jean-Claude Taddei)
Wine: Provence15	Wine: Oregon31	Wine: Loire Valley14
Farella Vineyard	Inconnu	Maison Surrene
Wine: California27	Wine: California29	Spirits : Cognac2
Farella-Park Vineyards	Joey Tensley	Maison Veuve Amiot
Wine: California27	Wine: California29	Wine: Loire Valley14
Fattoria Di Milziade Antano	Joseph Cattin	Mallea
Wine: Umbria22	Wine: Alsace10	Wine: California29
Fattoria La Rivolta	Judson & Moore	Manta
Wine: Campania18	Spirits : Illinois6	Wine: Central Valley9
Folk Machine	Julien Barge	Marchand-Tawse
Wine: California28	Wine: Rhône Valley16	Wine: Burgundy12
Folk Tree	Kazumi Wines	Matthiasson

Wine: California	30
Matthieu Barret	
Wine: France	9
Wine: Rhône Valley	16
Method Spirits	
Wine: New York	31
Mommenpop	
Wine: California	30
Monte Bernardi	
Wine: Tuscany	22
Mr & Mrs Theo	
Wine: France	9
Narupa	
Wine: Galicia	26
Nicolas Reau	
Wine: Loire Valley	14
POE	
Wine: California	30
Pas de Problème	
Wine: France	9
Wine: Languedoc-Roussillon	13
Passopisciaro	
Wine: Sicily	21
Pie De Palo	
Wine: Mendoza	8
Pisoni Estate	
Wine: California	30
Primo	
Spirits : Mexico	3
Pulpe Fiction	
Wine: Loire Valley	14
Pusole	
Wine: Sardinia	20
Rain	
Wine: Marlborough	23
Rico Nuevo	
Wine: Castilla y León	25
Rio Maggio	
Wine: Marche	19

Roar	
Wine: California	30
Roberto Henriquez	
Wine: Sur	9
Russell Henry Gin	
Spirits : California	5
Sancaba	
Wine: Tuscany	22
Sans Wine Co.	
Wine: California	30
Sara & René Viticultors	
Wine: Catalonia	26
Sartarelli	
Wine: Marche	19
Scheuermann	
Wine: Pfalz	17
Sebastien David	
Wine: Loire Valley	15
Serge Laloue	
Wine: Loire Valley	15
Sons of Wine	
Wine: France	9
Supergay Spirits	
Spirits : New York	7
Sylvie Augereau	
Wine: Loire Valley	15
Tenuta Di Fiorano	
Wine: Lazio	18
Tenuta Di Trinoro	
Wine: Tuscany	22
Thurston Wolfe	
Wine: Washington	32
Tiago Teles	
Wine: Portugal	23
Wine: Bairrada	23
Topette	
Wine: Loire Valley	15
Tso'ok Rum	
Spirits : Oaxaca	5

Tullia	
Wine: Veneto	23
Two Fruits	
Spirits : New York	7
Two Mountain Winery	
Wine: Washington	32
Ultraviolet	
Wine: California	31
Union Horse Distilling Co.	
Spirits : Kansas	6
Valdinevola	
Wine: Marche	19
Wine: Veneto	23
Vignoble Musset-Roullier	
Wine: Loire Valley	15
Vin Des Potes	
Wine: Aegean Islands	17
Viña Callejuela	
Wine: Andalucía	25
Walcher	
Spirits : Trentino-Alto Adige	3
Weingut Sybille Kuntz	
Wine: Mosel	17
Wilfrid Rouse	
Wine: Loire Valley	15
William Hinton Rum	
Spirits : Madeira	5
Workbook	
Wine: California	31
Yola Mezcal	
Spirits : Mexico	3
Spirits : Oaxaca	5
Ælred	
Spirits : France	2
Škerk	
Wine: Friuli-Venezia Giulia	18

